B.A., B.L. (Hons.)
B.A., LL.B. (Hog}_s;)
B.Com., B.L.(Hons.)

B.Com., LL.B. (Hons.)
B.B.A., LL.B. (Hons.)
B.C.A., LL.B. (Hons.)

Degree Examinations
November 2019



H 1818

Register No.

HVA/HA1A/CHA1A/HBAA/
HB1A/CHB1A/HC1A/

CHC1A/HD1A/CHD1A

B.A., B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.

(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. L1,B. (Hons.) DEGREE

Time : 2%

(SEM iH INATIONS,
NOVEMBER 2019.

(For the-candidates admitted from 2011 to Qi’)lB)

First Year — First Semester

ENGLISH —1I

hours Maximum : 70 marks

PART A — (2 x 10 = 20 marks)

1. Answer TWO of the following in about 500 words each.

(a)

(b)

©)

Discuss the best methods of study as enunciated by Glanville
Williams.

Analyse J.S. Mill’s views on social liberty and its negative impact
on individual’s liberty.

Narrate the plot of Hypotheses of failure.

PART B — (5 x 3 = 15 marks)

2. Annotate FIVE of the following.

(@)
(b)

©

()
(e)
®
(8)

Stock your mind with the deposit of much good reading.

Government of the people, by the people, for the people, shall not
perish from the earth. '

The pound of flesh, which I demand of him is dearly bought. It is
mine and I will have it.

The Lady of the Common Law likes to lie alone.
The standing army is only an arm of the standing government.
One of the fathers, in great severity, called poesy vinum demonum.

As students of Constitutional history know, it is only the
Government that is speaking through the President.

[P.T.O.]



Answer TWO of the following in about 250 words each :

(a)
(b)
(©

2.

PART C —.(20 marks)
(LINGUISTICS) - (10 marks)"

Influence of Christianity on English language.

Define ‘Etymology’ and ‘Semantics’.

2x5=10)

Trace the journey of modern English into a global language.

(PHONETICS) — (10 marks)

Answer THREE of the following :

()
(b)
(©)
(d)

What are short vowels? Give two examples.

Bx2=06)

Give the vowel classification based on place of articulation.

What are breathed consonants.

Explain the terms ‘primary’ and ‘secondary’ accent.

Transcribe the following sentences :

(a)
(o)

Make sentences using the pairs of words given below :

(a)
(b)
(c)
(d)
(e)

Have a nice day.
The child is hungry.
B PART D — (15 marks)

(GRAMMAR)

Collision - Collusion
Elusive —Illusive
Momentary — Momentous
Confirm — Conform

Adapt — Adopt

Frame sentences using the idioms given below :

(@)
(b)
(c)
(@)
(e)

To have the gift of the gab.
Where the shoe pinches.
To keep in the dark.

Order of the day.

To be on alert.

2x2=4)
(bx1=25)
(6 x1=15)

H 1818



10.

11.

8. . \» Gl.ye synonyms for the words g1ven below

"r- r oo
" L ""'wv‘ 11,.

(a) Toleratmn Yo ks w/. ,
(b) Falsehood I Ee :

Give antonyms for the words given below :

.

(a) Complete
M) Long.i
Form words using the prefix and suffix :

(a) pre.

(b) ing. B i

Rewrite the sentences :

S

2xi=1)

2x+=1)

2x+=1)
&

@2x1=2)

(a) “Mop the corners well” sa1d Kripa to her servant (into indirect

.sentence)

() - Srilakshmi invited Selvi to- her House to celebrate Onam and for

lunch. (into direct sentence).

H 1818



H 1819 ‘ HVB/HA1B/CHA1B
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B.A.B.L.(Hons.)/B.A.LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2019)
First Year — First Semester
HISTORY -1 (HVB) - B.A.B.L.(H(g&%.)
HISTORY (HA1B/CHA1B) - B.A.LL.B.EHons.) :

Time : 24 hours ‘Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Discuss the socio-cconomic and political life during the Sangam Age.
Explain the nature of Mughal administration.

Analyse the reasons for the decline of the Mughals and for the British
conquest of India.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Discuss the political administration of the Mauryas.

Trace the emergence of a synthetic culture in India with the advent of
Islam.

Gandhi’s role in Indian Independence.
. PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :

(a) Alwars and Nayanmars

(b) Dual Government of Bengal

(¢ Mahajanapadas

(d) Trade and commerce during the Gupta period.
(e) Pallava art and architecture

(® Nobility under the Delhi Sultanate

(g¢) Backward class movements

[P.T.O]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :
(@) Doctrine of Dhamma

(b) Feudalism

(¢) Big Temple

(d) Sufism

() Mansabdari system

() Nawabs of Bengal

(g) Satyagraha

V< -
e
I

(h) Theosophical society

H 1819
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HVC/HASE/CHASE/HBAC/HB5E/ EART € = (5 i ol = 20| maeks)
CHB5E/HCS5E/CHCSE/HDSE/CHDSE 7. Write short notes on FIVE of the following:

(a) Role and functions of Legal institutions
B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/ B.Com. B.L. (Hons.)/ oF .
B.Com. LL.B. (Hons.)/ B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (B) Gobal dntiniStatve kagy
(Hons.) DEGREE (SEMESTER) EXAMINATIONS, (c) Socio-legal research
NOVEMBES: 2O13: (d) Judicial Review

(For the candidates admitted from 2011 to 2017) . )
(e) Public Law and Private Law
First Year — First Semester /Thirt Year — Fifth Semester

<" (f) Bye Laws
CEGHLIMETEORD (g) Ratio decidendi and Obiter dicta
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) PART D — (6 x 2 = 12 marks)
Answer TWO of the following in about 500 words each. 8. Answer SIX of the following very briefly:
1. “Law is the command of the Sovereign” — Examine. (a) Structured questionnaire

! CoL . . (b) Case study method
2. Explain the general principles of statutory interpretation.

(c) Survey method

3. Explain the types of hypotheses and examine the criteria of a (d) Probability sampling
good hypothesis.
(e) Role of the Constitution
PART B - (2x 7 = 14 marks) (f) Statistical analysis of data
Answer TWO of the following in about 300 words each. (2) Law Reform
4. Examine the criteria for selecting a good research problem. (h) Primary and Secondary sources
5. Discuss the importance of legislation as a source of law.

6. Examine the theories of the origin of State and bring out the
distinction between nationality and citizenship.

1
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HVD/HA1D/CHA1D/HBAD/HB1D/
CHB1D/HC1D/CHC1D/HD1D/
CHD1D )

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com.B.L. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B. (Hons.) /B.C.A.LL.B. (Hons) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For candidates admitted from 2011 to 2019)
First Year — First Semester

LAW OF TORTS : '

L

Time: 2% hours ~"__ Maximum: 70 marks

—t

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. “All torts are civil wrongs, but all civil wrongs are not torts”. Justify the
statement with leading cases.

. Distinguish between Damnum sine injuria and injuria sine damnum with the
help of leading cases.

Explain the general rule that an employer is not liable for the torts of his
independent contractor? Are there any exceptions to it?

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Define Defamation. Discuss briefly the various defences available in an
action for defamation.

. Explain strict liability with special reference to Ryelands v. Fletcher.

. Explain Negligence with special reference to Donoghue v. Stevenson.

PART C - (5 x 4 = 20 marks)

. Write short notes on FIVE of the following:

(a) Malice in fact and Malice in Law
(b) Nuisance

(c) Common employment

(d) Last opportunity rule

(e) Trespass

(f) False imprisonment

(g) Absolute liability

(P.T.O.)



PART D - (2x6 =12 marks)
Answer TWO of the following by referrln,g to relevafit provisions of law and
decided cases.'Give cogent reasons.

8. Mr. A, who was a photographer, was taking photographs at a horse show.
While he was standing at the boundary, one of the horse belonging to Mr. Y
galloped out and Mr. A got frlghtened fell down and was seriously injured.
Decide the liability of Mr. Y.

9. S, a child, sued the railway company for damages on the ground that he had
been born crippled and deformed because the injury caused before his birth
was by an accident due to railway’s negligence, im which his pregnant
mother travelled. Decide the capacity of the child. -

10. Mr. A was acquitted from the case. He was again taken down to the prison
and was detained there for a few minutes while some questions were put to
him by the wardens. Mr. A, claimed damage on the grounds of false
imprisonment. Decide.



Register no.

HVE/HAl1lE/CHA1lE/HBAE/HB1E/CHBI1E/
HC1E/CHC1E/HDIE/CHDI1E

B.A. B.L. (Hons.)/B.A. LLB. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)/ DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2019)

First Year — First Semester

LAW OF CONTRACTS -1

A,

o
v
'

Time: 2% hours Maximum: 70 marks

N

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Expound the various ways in which an offer comes to an end and the

situations when an acceptance of offer can be revoked.

. ‘Standard form contracts usually contain liability limiting clauses. However,

these clauses do not, in all circumstances water down the liability’ -
Explicate.

. Explain the concept of privity of contract.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each

. Discuss the principles pertaining to measure and award of damages.

. ‘Consideration may be present or past’ — Can there be a contract without

consideration - Elaborate.

. Define misrepresentation and distinguish it from fraud. Can silence amount

to fraud?

PART C - (5 x 4 = 20 marks)

. Write short notes on FIVE of the following:

(a) Cancellation of instrument.
(b) Uberrimae fidei.
(c) Liquidated damages and penalty.
(d) Non est factum.
(e) Joint Promises
(ff Accord and satisfaction.
(g) Hadley Vs. Baxendale.
(P.T.O.)



|O

PART D — (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. ‘B’ goes to a shop and states he wants to purchase a particular brand and
model of mobile phone. ‘C’, the shopkeeper shows him 3 pieces and ‘B’
selects one and pays an advance sum, takes the handset and pledges it.
Having not received the balance of the consideration ‘C’ traces the article to
the pledgee and demands return of the same. Advise the plgdgee.

o
9. ‘D’ is engaged by ‘A’ to do the interior designin§= work for his newly
constructed house and a sum is fixed as consideration for the services. ‘D’
does research, spending time and effort and also pays advance for
purchasing material for the work. ‘A’ rescinds the contract. Discuss the
remedies available to ‘D’

10. ‘E’ places an order for purchase of an article, through a website on cash on
delivery basis payment. The article is shipped. Thereafter and before the
article reaches himself, ‘E’ repudiates the contract by intimating same to the
website owner. Decide.
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Register no. ‘

HVF/HA2A/CHA2A

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)
First Year — Second Semester

ENGLISH - II é
Time : 2% hours ;;Maximum : 70 marks
PART I - (2 x 10 = 20 marks) .

1. Answer TWO of the following:

(a) Analyse Charles Russel’s cross-examining skills.
(b) Explain the Thalidomide case.
(c) Bring out the pathos in the story “In the Court”.

PART II - (5 x 3 = 15 marks)

2. Annotate FIVE of the following:
(a) I was wandering about the fields... Neither eating nor drinking.

(b) Truly great counselling calls for an ability to forecast the trends of the
law.

(c) The law itself in this country has been used to serve the foreign
exploiter.

(d) The first publication of the articles “Parnellism and crime” was on the
7t March, 1887.

(e) The law which compels a witness to give evidence is duty bound to
protect him from being punished for doing it.

(f) Civil and criminal courts are partly but not entirely distinct.

(g) The object of a moot is to provide practice in developing an argument.

PART III — (2 x 5 = 10 marks)
3. Answer TWO of the following:
(a) Explain the understanding skills.

(b) Discuss how mother tongue helps as well as inhibits a second
language acquisition.

(c) Explain the laws of trial and error and law of continuity.

(P.T.O.)
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PART IV - (3 x 5 =15 marks)
(LOGIC - 10 marks) (2x5=10 Marks))
4 (a) What is syllogism? Give the rules of syllogism with examples.
(or)

(b) Explain distribution of terms with examples.

5. Bring out the fallacy in any one of the following syllogisms.
(@) All men are handsome
All men are cunning.
.. All cunning men are handsome.

(or)
(b) All mother-in-laws are wicked.
No mother-in-law is weak.
.. No weak mother-in-law is wicked.

LETTER WRITING - (5 marks)
6. Write a letter to your college Principal asking for your original certificates.
PART V - (10 x 1 =10 marks)

7. Use TEN legal terms in sentences.

(a) Tort (g) Licence

(b) Vakalat (h) Coercion
(c) Rent (i) Defamation
(d) Proviso (§) Equity

(e) Ad valorem (k) Perjury
(f) Bona-fide (I) Evidence
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Register no. ‘ ’ ‘ l

HVG/HA2C/CHA2C/HBAB/HB2D/CHB2D/
HC2D/CHC2D/HD2D/CHD2D

B.A.B.L.(Hons.)/B.A.LL.B. (Hons.)/B.Com.B.L. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B. (Hons.) /B.C.A.LL.B. (Hons) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)
First Year — First Semester/Second Semester

HISTORY II - (HVG)
LEGAL AND CONSTITUTIONAL HISTQRY'
(HA2C/CHA2C/HBAB/HB2D/CHB2D/HC2D/ CHC@D /HD2D/CHD2D)

Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

—

. Analyse Warren Hasting’s plan.
2. Evaluate the dual system of administration of justice.
3. Elucidate the salient features of the Government of India Act, 1919.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Write about the composition, powers and functions of the Supreme Court
at Calcutta.

5. Discuss the salient features of the Regulating Act.
6. Discuss Powers and functions of Privy Council as a Court of Appeal.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Act of Settlement
(b) Patna case
(c) Mayor’s court of 1726
(d) 1813 charter
(e) Law reporting in India
(f) Advocates Act, 1961
(g) Development of legal education
(P.T.O.)



: PART D - (6 x 2 = 12 marks)
8. Answer SIX of the following very briefly:
(@) 1600 Charter
(b) Diwani adalat
(c) Sir Elijah Impey
(d) Creation of Governor General’s post
(e) Choultry Court
(f) Recorder’s Court
(g) Bar council of 1926 12
(h) Legal profession till 1724.
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Register No. ‘ T )

-

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2019)
B.A. B.L. (Hons.) First Year — Second Semester (HVH)
B.A. LL.B. (Hons.) First Year — First Semester (HA1C/GHA1C)

SOCIOLOGY — I | (f

Time : 2 hours Maximum : 70 rh‘arks

2.

PART A — (2 X 12 = 24 marks)
Answer TWO of the follov'vin-g in about 500 words each.
Elucidate the role of various agencies in social control.
Define family. Explain the primary and secondary functions of famih;

Give the meaning of soc1a117at1on Describe the various stages of
socialization. :

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

Explam the relat10nsh1p of sociology w1th Anthropology and Soc1a1 |
psychology.

Examine the factors that facilitate deviance.

Bring out the characteristics of social stratification.

PAVRT C — (b x 4 =20 marks) -
Write short notes on FIVE of the following :
(a) Horizontal mobility. ‘
(b) Role taking.
(¢) Causes of Polygyny.
(d) Typés of mores.

- [P.T.O]



(@)
®
&)

(a)
(b)
(c)
(d)
(e)
®

®
@y

Rule of descent.

Soc1al Norms.

6

Materlal Culture. v -;'/ "_ |

PART D — (6 x 2 12 marks)

Social Control.

- Define marriage.

Folkways.

Define dev1ance

- Answer SIX of the following yery briefly :

Definition of social- moblhtyt :

Matriarchal family.
Social stratification.

Types of groups.

H 1911
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Register no. ‘ ‘ T ‘ [

HVI/HA2B/CHA2B/HBAI

B.A. B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com.B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)
First Year — Second Semester
POLITICAL SCIENCE -1 (Political Theory)

Time: 2% hours E\_‘L.([axiirnum: 70 marks
PART A - (2 x 12 = 24 marks) 1’:
Answer TWO of the following in about 500 words each.

—

. Define State and discuss its elements.
2. Examine the evolutionary theory of origin of the state.
3. Analyse Plato’s classification of Governments.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each

4. Discuss Multi Party System.
5. Examine the philosophical foundations of equality and justice.
6. Critically analyse Regionalisation and its challenges.

PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Relation between Political science and Ethics.

(b) Behaviouralism

(c) Matriarchal theory

(d) Kinds of sovereignty

(e) Theories of Rights

(f) Critical Theory

(g) Role of law in Governance

(P.T.0.)
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PART D - (6 X2 = 12 marks)

8. Answer SIX of the following very briefly: i

(a) Nature of political science

(b) Traditional approach

(c) Divine right theory of king

(d) Monism

(e) Modernity and its critics

(f) Checks and Balances in Presidential system .

(g) Unicameral legislature {

(h) Revolution
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HVJ/HA2E/CHA2E/HBAJ/HB2E/
CHB2E/HC2E/CHC2E/HD2E/CHD2E

B.A. B.L. (Hons.)/B.A. LLB. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)

First Year - Second semester
LAW OF CONTRACTS - II

L]

Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. “Indemnity requires that the party to be indemnified shall never be called
upon to pay” — Expound.

. What is a pledge? Explain the rights of a pawnee and pawner.
. Who is an unpaid seller? Explain the rights of an unpaid seller of goods.

, PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Explicate the tests to be applied in deciding whether an agent has implied
authority to create privity of contract between his principal and sub-agent.

. What is meant by implied authority of a partner? What are the statutory
restrictions on a partner’s implied authority?

. What are the rights and obligations of a finder of goods? Discuss the nature
of lien he has upon the goods.
PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Sale by description
(b)  Material alteration
(c) Essential characteristics of a firm
(d)  Bailor for Reward
(e) Factor and broker

(P.T.0.)




0  Rights of Co-streties -’
(g Ex-Ship centracts.

PART D - (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. ‘B’ receives a dog in the custody of ‘A’. The dog gave birth to puppies. ‘B’
delivers the dog backs to ‘A’, but retains the pyppies. Has ‘A’ remedy
against B’? L?

9. ‘A’, ‘B’ and ‘C’ enter into a partnership agreement under which ‘C’ is not
liable for losses. D’ filed a suit against A, B and C for an amount due
from the firm. Examine the position of ‘C’.

10. In the absence of ‘A’ the husband, ‘B’ the wife purchases some goods
from the shop of ‘C’ on credit. Can ‘B’ act as an agent of ‘A’? Can the
shopkeeper recover the money from ‘A’?
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HWA/HASB/
CHA3B

. B.A. B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)

EXAMINATIONS, NOVEMBER 2019.
(For the cand1dates admitted from 2011 to 2018) |

Second Year — Third Semester

POLITICAL SCIENCE II - STATE AND,
POLITICAL OBLIGATIONS %

Time : 21 hours Maximum : 70 marks

B:

. PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each

Cr1t1cally analyse the concept of Political Obhgatlon

Wrxte an essay about Hobbe’s social contract theory.

Examine the Gratltude theory of Pohtlcal Obligation,

PART B — (2 7= - 14 marks) ‘
Answer TWO of the followmg in about 300 words each.

Exarmine the ideas of UpendrajBaxl on Indian Legal system.

Evaluate the Gandhian principle of Civil Disobedience.

Critically analyse Aristotle’s theory of justigie. !

PART C — (5 x 4 =20 marks)

Write short notes on FIVE of the followmg

(g) '
()
(c).

(d)

(e)
®-.

(®

D.H. Thoreau
Burke ) 1deas pn French Revolutwn .

Voluntamsm '

Identity and Political Obligation_

Revolution - |
Right and Duty

Natural Law

[P.T.O.]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

()
(b)
©
(d)
(e)
®
(2
(h)

Raz on Justice

Preamble of the Indian Constitution
Dilution of Political Obligation
Scope of Political dbligation

Types of Political Obligation

Nature of Authority

- T -
e S
T ew

M.K. Gandhi

State and obhigation.

H 1826
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H 1827 | HWB/HASA/CHA3SA |

B. A B.L. (Hons:)/B.A. LL.B.(Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019. ‘

(For the candidates admltted from 2011 to 2018)
Second Year — Third Semester

SOCIOLOGY -II

..
-
\

Time : 24 hours Maximum : 70 marks

3.

PART A — (2 % 12 =24 marks)
" Answer TWO of the following in about 500 words each.

AnélySe the problems faced by women in modern India. And highlight

the legislative measures for women empowerment.

"Define caste. Explain the various theories of Caste System in Indian

society.

Discuss the recent developments faced by village communities and

' arialys'e the role of village community in nation’s developmenﬁ.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Examine the reasons for caste conflict in contemporary India.

Analyéé the problems invol\'('ed'ir/i» the effective rehabilitation of Bonded

Labours.

Discuss the legal and non-legal measures taken by government towards

the abolition of dowry?

[P.T.O.]



PART € = (5 x 4 = 20 marks)

Write short notes on FIVE of thv t()llow mg

(a)
(b)
(c)
(d)
(e)
®
(8)

Rehablhtatmn of prost1tutes
Dr.B.S. Guha's classification of Indian Races.

Is Hindu Joint family disintegrating?

Rolé of Dr.Ambedkar in the eradication of untouchability

Social role of judiciary in Ind1an society

Causes of corruptmn k v

_Traditional characteristics of Indian village. é*;_:
o

-PART D — (6 x 2 = 12 marks)

Answer SIX of- the following very br1eﬂy

(a)
(b)
()
(d)
(e)
8]
(8)
(h)

Society - _ ~

Ta_rawad

Divorce

Disadvantaged group
_I:lg.gal profession
Cﬁltural change
Indian civilization

Honour Killing

H 1827
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Register no. ‘ ’ ‘ ‘ ‘

HWC/HA3C/CHA3C/HBBC

B.A.B.L. (Hons.)/B.A.LL.B. (Hons.)/ B.Com. B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)
Second Year — Third Semester
ECONOMICS - I
GENERAL PRINCIPLES OF ECONOMICS

Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) v
Answer TWO of the following in about 500 words each.

. Is economics a science? If so, is it a positive science (or) normative
science. Give reasons.

. How does Keyne’s theory of Income, Output and Employment promote
economic development?

. What is meant by B.O.P. disequilibrium? Explain the various methods of
correcting the disequilibrium in B.O.P. and its limitations.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Explain the law of variable proportions.
. Evaluate the Marginal Productivity theory of wage.
. State the characteristics of Good Tax System.

PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Types of elasticity of demand
(b) Properties of Indifference curve
(c) Functions of Commercial Banks
(d) Short-run production function
(e) Difference between Balance of Payment and Balance of Trade
(f) Characteristics of Monopolistic competition market
(g) Functions of WTO
(P.T.O)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly: '

(a) Modern School S

(b) Normal Good

(c) Consumer Surplus

(d) Monopoly

(e) Circular flow of Income

(f) Source of Public Revenue

(g) Fiscal Policy

(h) IMF
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HWD/HA3D/CHA3D/HBBD/HB3D/
CHB3D/HC3D/CHC3D/HD3D/CHD3D

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)
Second Year — Third Semester
FAMILY LAW - I

Time: 2% hours JMaximum: 70 marks
PART A — (2 x 12 = 24 marks) %
Answer TWO of the following in about 500 words each.

1. “The purpose of the Hindu Marriage Act, 1955 is to introduce uniform
rules of Marriage to all Hindus” - Examine the statement with reference
to changes brought by the Hindu Marriage Act in the Hindu Marriages.

2. Who are testamentary guardians under Hindu Law and Islamic Law?
What are their powers relating to minor’s immovable property?

3. Discuss the law of divorce as applicable to Christians.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. What are the effects of adoption under the Hindu Adoptions and
Maintenance Act, 19567

S. Discuss the law relating to Dower.

6. State the grounds for divorce available under the Special Marriage Act,
1954.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Smritis
(b) Saptapati
(c) Maintenance of widowed daughter-in-law under Hindu Law
(d) Khula
(e) Fasid Marriage
(f) Minister of Religion
(g) Doctrine of Factum valet
(P.T.O.)
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PART D - (2 x 6 = 12 marks)

. “".‘ o T '_" - —— s ] [ L.
""Anstver TW® of thefoltowing by, referring to relevant provisions of law and
decided cases. Give cogent reasons. .

-,

Gopu marrie'd Rukku under the Hii’ldu Marriage Act, 1955. In the
afternoon of the day of marriage Rukku learnt that Gopu had already
married another woman and had a child by her. Rukku wanted to get a

divorce immediately. Advise.

9. A Muslim divorces his wife by pronouncing Talak in a state of voluntary
intoxication. Examine its validity.

»

10. A Hindu male after adopting a son marries. Hiﬁrife sends back the
adopted son to his genetic family. Is the action vali



* Register no. | | ‘ T ‘

HWE/HA3E/CHA3E/HBBE/HB3E/CHB3E/
HC3E/CHC3E/HD3E/CHD3E

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/ B.Com. B.L. (Hons.)/ B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)

Second Year — Third Semester

CONSTITUTIONAL LAW -1 \g‘

v

Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Critically evaluate the role of judiciary in the expansion of concept of state
under Art. 12 of the Indian Constitution particularly after the globalization

process.

Examine the judicial interpretation of Reasonable classification relating to
doctrine of equality.

. “Island of fundamental right theory was discarded by golden triangle
Theory” — Discuss.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each

Explain the constitutional safeguards provided for the detenue under the
preventive detention laws.

. Examine the doctrine of basic structure.
. Write a critical note on the right against self incrimination.
PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Constitutionalism
(b) Latimer House principles
(c) Doctrine of Eclipse
(d) Distributive justice
(e) Quo warranto
(f) Fundamental Duties

(g) Creamy layer
(P.T.O.)
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PART D - (2 x 6 = 12 marks) )
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. A Scooterist was knocked down,by a speeding car. Seeing him profusely
bleeding, a person who was on the road picked up the injured and took him
to the nearest hospital. The doctor refused to attend the case and asked him
to take the injured to the authorized hospital to handle medico-legal cases.
On the way to authorized hospital injured died-Decide.

9. A law was enacted by the state to provide for betfgs management of the
temple. The law abolished the hereditary post of pfiest in the temple and
made provision for appointment of priests by the state. This law was
challenged by the petitioner as violative of his fundamental right to freedom
of religion guaranteed by the constitution. Discuss the constitutional
validity of the law.

10. A petitioner challenged a law that disqualifies a person having more than
two children from contesting in panchayat elections. But this law is not
applicable to elections for state legislature and parliament. Petioner
contended that it is violative of Art.14 of the Indian Constitution. — Decide.
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Registenl*lJo_ l | ‘ __‘

H 1906 | HWF/HA4A/
" CHA4A/HBBF

B.A.B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com.B.L. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2017)
Second Year — Fourth Semester

B.A.B. L (Hons.)/B.A.LL.B. (Hons.) - POLITICAL SCIENCE —III
(International Relations) — HWF/HA4A/($IA4A

B.Com.B.L. (Hons.) — POLITICAL SCIENCE — 11
(International Relations) -HBBF

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1. Discuss Neo-realist and Neo-liberalist theories of modern world.

2. . Explain the various principal organs of United Nations and 1its

functions.

3.  Critically analyse Non-Aligned Movement in International Relations.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 306 wor'(is each.
4, Examine the role of i{umanitarian Law.in International Relations,
5. LKExamine thé importance of Balance of POV&Irer in International relations.

6. Examine the role of Non-State actors in International relations.

[P.T.O.]
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a)
(b)
(©)
(d)
(e)
@
(8)

Regiohal Organisation.

Functions of Diplomacy.

Role of Science and development in International Relations.

Total war.
Divide and Rule.

Armaments and disarmaments.

Consolidation of National Power.

b 3
>

PART D — (6 x 2 = 12 marks) \‘-,

Answer SIX of the following very briefly :

()
(b)
(©)
(d)
(e)

@ -

€9)
()

Relation between International Relations and International Law.

Moralist theory.

Ideological differences in International Relations.
Liberalism in International Relations.

Feminism in International Relations.
Globalisation in International Relations.

Bill of Rights.

SALT I

H 1906
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Register No. | _ ‘ [ ‘_l

H 1902 ' [HWG/HA4B/
CHA4B

B.A.B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS,; NOVEMBER 2019.

(For the candidates admitted from 2011 to 2017)
Second Year — Fourth Semester
ECONOMICS - 1I (INDIAN ECONOMIC§)
Time : 21 hours ! B . h';ximum : 70 marks
PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. ~ Explain Rostow’s stages of Economic Growth.

2.  “Agriculture holds the key to rapid economic development in the

country” — Discuss.
3. What are the main features of the new Industrial Policy of 19917
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. What is meant by underdeveloped economy? Discuss the characteristics
of under development? ' ’

5. Explain the nature and ca_\uses of unemployment in India.
6. Describe thé role of 1ndustrialisatiof1 in economic dévelopment? '
PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Population Policy 2000. (

(b) Land Reform measures undertaken in India.

(¢) Role of Small — Scale and Cottage industries.

[P.T.0.]
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(d) Main objectives of 12t Five-Year plans. -
(¢) Differentiate the Economic growth and development.
() What is GATT? Make an evaluation of GATT.
(8) Defects of Trade union Movement in India.
| PART D — (6 x 2 = 12 marks)
Answer SIX of‘t‘ile fdllowing'yery briefly.

(a) National Income

(b) Ine'quality : ;e
() IRDP .
(d) SEZ

() FERA

(f) G.reen Revolution
(g) Functions of RBI

(h) Micro Finance

2 H 1902
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, Register no.

HWH/HA4C/CHA4C/HBBG/HB4C/CHBA4C/
HC4C/CHC4C/HD4C/CHDAC

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2017)

Second Year — Fourth Semester
JURISPRUDENCE Lo
"'l

Time: 2% hours ¥ Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the relevance of Hart and Fuller debate to achieve a fair legal
system.

2. Evaluate the contribution of judiciary to shape or modify customs and
legislation.

3. Give the meaning of ‘property’. Argue intellectual work as a form of property.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each

4. Write a note on ‘Social Contract theory’.

o)

. Explain the importance of subordinate legislation.

6. What is the nature and scope of Jurisprudence?
PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Fiction theory

(b) Pure theory

(c) Austin

(d) Henry Maine

(e) Obiter dicta

(f) Definition of law given by Analytical School

(g) Relationship between rights and duties

(P.T.O.)
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PART D - (2 x 6 = 12 marks) )
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. The state has made a law to sequre the reservation policy followed in the
state. The constitutional validity of the legislation was challenged in the
court. Decide.

9. The “AB Club” wanted to prohibit members bringing dogs to the club, and it
has decided to exempt visually challenged members bringing guide dogs. So
the club has made a rule “All members are prohibitgd to bring dogs, the
dogs accompanying visually challenged shall be {teated as cats”. This
provision was challenged in the court. Decide.

10. A partnership firm was found to have involved in an environmental
damage. A Public interest litigation was filed against the firm. The Court has
held that the firm is liable to pay one crore rupees to the victims. A partner
claimed exemption, as he left the firm on the date of court decision. Decide.
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Register no. ‘ J | ]

HWI/HA4D/CHA4D /HBBI/HB4D/
CHB4D/HC4D/CHC4D/HD4D/CHDA4D

B.A. B.L. (Hons.)/B.A. LL.B. (Hohs.)/B.Com.B.L. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B. (Hons.) /B.C.A.LL.B. (Hons) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2017)
Second Year — Fourth Semester
FAMILY LAW - II &

Time: 2% hours Maximum: 70 marks

—

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Explain the salient features of Hindu Mithakshara Coparcenary system.
How does a coparcenary within coparcenary arise?

. State the rights of inheritance of the three classes of heirs under Hanafi Law.

Describe the principles governing the making of a privileged will and explain
how it differs from an unprivileged will.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Define ‘Shuffa’. State the requirements of Shuffa according to Sunni and
Shia Law.

. Explain the rules of succession of property among the legal heirs of a female
Hindu dying intestate under the Hindu Succession Act, 1956.

. Summarise the provisions of the Indian Succession Act, 1925 relating to the
duties of executors and administrators.

PART C - (5 x 4 = 20 marks)

. Write short notes on FIVE of the following:

(a) Avyavaharika debt.

(b) Hindu Gains of Learning Act, 1930.

(c) Kinds of Hiba.

(d) Mutawalli.

(e} Ademption of Legacy.

(f) Doctrine of cypres.

(g) Succession Certificate.

(P.T.O.)
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PART D - (2 % 6 = 12 tnarks)

Answer TWO of the following by referring to relevant provisions of law and
decided cases® Give cogent reasons.

8. A male Hindu died, leaving behind the mother, father, a son, a daughter
and a daughter of a predeceased son. Distribute the property among them.

9. A Christian dies leaving his father, mother, wife, a

and two daughters.
Distribute the property of the deceased.

10. A Hanafi Muslim dies leaving her husband, mother and daughter.
Distribute the estate.
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HWJ/HA4E/CHA4E/HBBJ/HB4E/
CHB4E/HC4E/CHC4E/HD4E/CHD4E

B.A., B.L. (Hons.)/B.A. LLB. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2011 to 2017)
Second Year -Fourth Semester
CONSTITUTIONAL LAW - 11

Time: 2% hours i...ZMaXimum: 70 marks

\ |“.

PART A - (2 x 12 = 24 marks) '

Answer TWO of the following in about 500 words each.

1. Discuss the Constitutional scheme of distribution of legislative powers
between the Centre and States.

2. Explain the safeguards guaranteed to civil servants under the Indian
Constitution. Are they available to temporary civil servants also?

3. Discuss the circumstances under which national emergency may be
proclaimed. What are its effects?

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Write a short note on the liability of the States for the torts committed by its
servants.

5. Discuss the role of collegium in the appointment and transfer of the judges
of the High Courts and Supreme Court of India.

6. Explain the provisions related to inter-state trade and commerce.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Collective responsibility.
(b)  Doctrine of immunity.
() Judicial restraint.

(d) Inter-State Water Dispute.

(e) Electoral disqualification for the Members of Parliament.
@ Contractual liability of the Government.
(g) Goods and Services Tax.

(P.T.O.)
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PART D - (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

State Government banned leases for quarrying of black granite to private
persons and reserved it for Government Corporation under Mines Act. It
challenged that it violated freedom of trade. Discuss the validity of the

Act.

“X” secured job by false certificate and he was disnlissed from service. Is

he protected by Article 311 of the Constitution? ?_j“

'y

Minister ceases to be a Member of Parliament. Decide.

The President of India dissolved the Lok Sabha, but the Prime Minister
was continued in his office. The continuance of the Prime Minister along
with his Ministry even after dissolution by Lok Sabha was challenged in
the Supreme Court by “X”, a citizen of India, on the ground that Prime
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Register no. L_ ]

HXA/HA6B/CHA6C

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2016)
Third Year - Fifth Semester/ Third Year — Sixth Semester

POLITICAL SCIENCE IV - PUBLIC POLICY AND PUBLIC
ADMINISTRATION
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) y.¢
Answer TWO of the following in about 500 Words each.

1. Define Public administration and discuss its nature.
2. Examine various theories of organization.

3. Evaluate the importance of 731 and 74t Amendment Acts.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the growth of Public Corporations in India.

S. Discuss the importance of Right to Information in Indian Public
Administration.

6. Evaluate the Quasi Judicial Powers.

PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Public Policy

(b) Span of control

(c) Panchayat Raj System

(d) IRDA

(e) State Public Service Commission

(f) Luther Gullick

(g) L.D. White

(P.T.O.)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) Elton Mayo

(b) 14 principles of Administration

(c) Woodrow Wilson ‘

(d) Decentralisation

(e) Accountability

(f) Red-tapism

(g) Unity of Command

(h) Parliamentary Control

,
Pat
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Register no. ( B _L J,_

HXB/HBCC/HA2D/CHA2D/HB3C/CHB3C/
HC3C/CHC3C/HD3C/CHD3C

B.A. B.L. (Hons.)/B.A. LL.B (Hons.)/ B.Com. B.L.(Hons.)/ B.Com. LL.B.
(Hons.)/ B.B.A. LL.B. (Hons.)/B.C.A. LL.B (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018)

Third Year - Fifth Semester (HXB/HBCC)
First Year — Second Semester (HA2D/CHA2D)

Second Year — Third Semester Lo
(HBSC/CHBSC/HCSC/CHCSC/HD3C/G{HDSC)

LAW OF CRIMES -1 (INDIAN PENAL CODE)

Time: 2% hours Maximum; 70 marks

9

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Right to private defence is essentially a right of defence and not offence.

Discuss if there is any limitation on exercise of right of provate defence.

. Criticallty examine the territorial and extraterritorial jurisdiction of the

Indian Penal Code.

. What is criminal conspiracy? How does it differ from abetment.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each

. Under what circumstances the drunkenness can be pleaded as defence?

What is grievous hurt and discuss its different kinds?
Explain the difference between kidnapping and abduction?

PART C - (5 x 4 = 20 marks)

. Write short notes on FIVE of the following:

(a) Joint liability

(b) Cheating by personation
(c) Dowry death

(d) Dacoity

(e) Fine

(f) Motive

(g) Rarest of rarest case
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PART D — (2'x 6 = 12 marks) :

Answer TWO of the following by referring to relevant provisions of law and
decided cases, Give cogent reasons.

8. X, is learning shooting. Despite being cautioned against practising in
crowded places, he fires shots at his dummy target, after placing it in a
crowded street. A shot from his gun hits a person there by causing his
death. Discuss the liability of X.

. ’
[

9. X and B are sworn enemies. One day finding B al ’ X gives him a deep
wound in his chest with the help of a sharp dagger that pierces his heart
and causes his death. Discuss the liability of X.

10. Y deposited her diamond necklace with X. X substituted the genuine ones
with imitation diamond. Discuss the liability of X.



4 <

Register No.

H 1903 HXC/HA5C/CHA5C/HBCD/
HB5C/CHB5C/HC5C/
CHC5C/HD5C/CHD5C

(For the candidates admitted during from 2011 to 2017)

B.A.B.L.(Hons.)/B.A.LL.B.(Hons.)/B.Com.B.L.(Hons.)/
B.Com.LL.B.(Hons.)/B.B.A.LL.B.(Hons)/B.C.A.LL.B (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

Third Year — Fifth Semester

..
-

PUBLIC INTERNATIONAL LAW :‘
Time : Two and a half hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. "International law is a harmonious blend of customary as well as treaty law"-
Discuss.

2.  What is State succession? Explain difféerent kinds of State succession by giving
examples.

3. What is Recognition? Explain the legal effects of recognition of a new State.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Explain “territorial sea' and “continental shelf.
5.  Define the term Treaty'. Explain termination of treaties.
6. What is Asylum? Explain the different kinds of Asylum recognized under
International laws.
- PART C — (5 x 4 =20 marks)
7.  Write short notes on FIVE of the following
(a) Double Nationality
(b) Extradition
(o) Compulsory Jurisdiction of International Court of Justice
(d)  Principles involved in Lotus Case.
(e) Purpose and principles of UNO
® Functions of Security Council.
() Privileges and immunities of Diplomatic agents
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.
8. The diplomat of State ‘A’ was supplying weapons to.a banned outfit in State
‘B’, in violation of local laws. When he was caught, he claims diplomatic
immunity. Can he succeed? Decide.

[P.T.0]
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9. © ‘A’ State claims sovereignty over an island on.thg ground that it has discovered
" the same, but ‘A’ State has no effective sovereignty on the island, ‘B’ State also
..claimg sovereignty on the same defand on the ground that it has effective

control and sovereignty over t.he'(i;’.s}_émr.l for the last three hundred years.
« Which State has sovereignty over ﬁhe island? Decide.

10. .' X, an Indian politiCian, to’ 'avdid arrest by Lokayuktha Authorities takes
refuge in a merchant ship of State °Y’, which is stationed in the.territorial sea
of India. Can Indian Lokayuktha Authorities arrest him? Decide.

9 H 1903
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H 1834 [ HXD/HASB/CHASB |

B.A. B.L. (Hons.)/B.A. LL.B, (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019,

(For the candidates admitted from 2011 to 2017)
Third Year — Fifth Semester .
HUMAN RIGHTS LAW

’ W " b o
Time : 21 hours l\ﬁimum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Define ‘Political Righjt.é"‘. ‘Eiu'.cidéte the political rights enumerated in the
International Bill of Rights. :

Evaluate the efficacy of institutional mechanism in protectmg the rights
of Scheduled Castes and Scheduled Tribes.

Criticaldy- examine the constltutmnal protection of human r1ghts in
India.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each. -

What is ‘right of self:determination’? Examine the Indian perception. of
independent movements across the world.

Trace the evolution of three generations of human rights.

Describe the enforcement mechanisms available under European
Human Rights System. '

PART C — (5x 4 = 20 marks)
Write short notes on FIVE of the followmg

(a) Torture :
(b) R1ghts of ,‘dis}abhled

() Sexual mi_norities



A8

'd) UNHRC

() Magna Carta
() Racial Discrimination

(g) Human Rights in SAARC

PART D —- (2 x 6 = 12 marks)

‘Answer TWO of the following by referring to the relevant pro’visions of law

10: .

and decided cases. Give cogent reasons,

Mr'.'.Th"oms.on owned a company and lost his business later. He was
given civil imprisonment for his failure to repay the - debt of his
company. This issue finally appeared before Supreme Cougt. Decide.

Mr. ‘X’ was illegally detained by the poIicé officials& connection ,vbvi‘t’h a
robbery. His wife petitions to SHRC. Decide. e :

'NHRC takes suo motu cdgnizance of a rio_ti incident and passes
guidelines to police officials. These guidelines were not followed by
certain States. The non-compliance issue was brought before NHRC.
Decide. i ' '

2 H 1834
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Register no. ’ I ’ ’

HXE/HAGE/HBDC/
HB6E/HC6E/HD6E

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2015)

Third Year -Fifth Semester/Fourth Year-Seventh Semester/
Third Year — Sixth Semester
INTERPRETATION OF STATUTES:

Time: 2% hours r;:‘.Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. “Clear laws does not require interpretation; however as it is said ‘to error is
human’, interpretation has become a consistent source for human
legislations” — Discuss.

. Explain in detail the relevance of TIllustration’, Proviso’ and ‘Schedules’ as
intrinsic aids of interpretation.

. Trace the "significance of the decision laid down in State of Bombay uv.
Hospital Mazdoor Sabha, in the context of understanding the rules of
interpretation.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. “Fiscal Statutes by their intrinsic nature warrant strict interpretation” -
Elaborate with the help of decided cases.

. Examine the utility of Section 3 of the General Clauses Act 1897.

“Social security legislations identify labour rights as human rights wherein
the mode of interpretation ought to be beneficial” — Discuss.

PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Principle of Good faith in interpretation.

(b)  Effect of Repeal.

(P.T.O.)
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(c) Statement of objects and reasons Clause.

(d) Elements of Legislative sentence.

(e) Rule of ejusdem generis.

] Comparative Law under the Constitution of India.

(2) Stages of Legislative Drafting.

PART D - (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant prov1s1ons of law and
decided cases. Give cogent reaso,ns

X’ commits a prohibited act in a protected area in the forest.
Subsequently, X is charged under both the relevant forest laws and that
of the Indian Penal Code. During the proceedings X takes the plea that
the charges amount to double jeopardy. The question of law is, for the
purpose of applying Article 20(2) of the Constitution of India, how to
identify ‘same’ and ‘distinct’ offence. Advise.

Government ‘X’ enacts a legislation on the Rights of Differently Abled
Persons. The said legislation omits the definition of ‘Differently Abled
Persons’. Whether this omission amounts to Casus Omissus or it is a
matter of legislative policy for anti-discriminatory legislations — Discuss.

Y’, a death convict’s mercy petition is rejected by the President.
Subsequently, Y moves before the courts, on the ground that, the Power
to Pardon conferred upon the president is in violation of the Principle of
Natural justice. Whether the Indian Courts have jurisdiction in the said
context, if so, how to interpret presumptions on Natural justice — Advise.
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HXF/HA6C/CHA6D/HBCH/HB6C/
CHB6D/HC6C/CHC6D/HD6C/CHD6D

B.A. B.L. (Hons.)/B.A. LL.B.(Hons.)/B.Com.B.L. (Hons.)/B.Com.LL.B.
(Hons.)/B.B.A.LL.B. (Hons.) /B.C.A.LL.B. (Hons) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2016)
Third year — Sixth semester
ADMINISTRATIVE LAW

‘\‘ 1.

L

\ "'

Time: 2% hours " Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

—

. Analyse the “Doctrine of separation of powers” and explain the concept that
in “Administrative Law, it is not possible to do away completely with this
exercise of labeling and distinguishing between administrative, quasi-
judicial and legislative functions”.

2. Explain the concept of “Rule of Law” and analyze its impact in UK and India.

w

. Define the principle of “Promissory Estoppel” with reference to the liability of
a State in contracts.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the “right to fair hearing” as a principle of Natural Justice and
identify the exceptions to this rule in the light of decided cases.

5. Discuss the various controls over the functioning of “Public Corporations”.

6. Identify the statutory remedies that are available against the Government of
India.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Franks Committee
(b) Doctrine of Legitimate expectation
(c) Lokayukta in State
(P.T.O.)
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(d) Colourable exercise of power

PY

(e) Writ of Mandamus
(f) Sovereign Immunity

(g) Removal of difficulties clause

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.
Y S
¢ &
8. An NGO working on the evil of corruption files a wri%"()f mandamus against
the Government of X’ State before the Supreme Court of India to take steps

to constitute Lokayukta in that X’ State. Is the petition maintainable? Give
reasons.

9. ‘A’ was prosecuted for the possession of drugs beyond the permitted limit.
However the Act under which he was prosected, was not published in any
form. ‘A’ challenged its enforceability. Decide with reasons.

10. A writ petition was filed by Y’ before the Supureme Court. The Supreme
Court dismissed and issued a direction to file the same before the High
Court of ‘Madras, as it has concurrent jurisdiction and that there is an
effective alternative relief under Art.226. Decide.
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Register no. ‘

HXG/HASA/CHA6A/HBDG/HB8A/
CHB6A/HCS8A/CHC6A/HDSA/CHD6A

B.A., B.L. (Hons.)/B.A. LLB. (Hons.)/B.Com. B.L. (Hons.}/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2016)
Third Year — Sixth Semester/Fourth Year — Eighth Semester
LAW OF EVIDENCE v’
Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

’

1. What are Admissions? When admissions are relevant under the Indian
Evidence Act?

2. Examine the stages of examination of a witness? Discuss the rationale of
such examination.

3. Discuss the provisions of the Evidence Act relating to presumption as to life,
death and legitimacy.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each

4. Discuss the evidentiary value of dying declaration in the light of decided
cases.

5. Explain the doctrine of Res gestae.
6. Discuss the evidentiary value of retracted confession.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Expert opinion
(b)  Burden of proof
(c) Statement of an Accomplice.

(d) Best Evidence Rule
(P.T.O.)
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(e) Privileged communications
0] Public Document

(2 Fact in Issue

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. ‘A’ intentionally and falsely leads ‘B’ to believe t 'l: certain land belongs
to him and thereby induces ‘B’ to buy and pay" for it. The said land
afterwards becomes the property of ‘A’. ‘A’ seeks to set aside the same on
the ground that at the time of the sale, he had no title. Decide.

0. ‘A’ a client says to ‘B’, his Advocate, “I have committed forgery. Please
defend me”. ‘B’ the Advocate intends to disclose this information to the
police. Can he be prevented from disclosure?

10. ‘A’ prosecuted for the murder of ‘B’ while in the custody of police has
made the statement “I had killed ‘B’, with a knife which I have hidden
in my house”. Examine whether the statement is admissible.
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H 1904 HXH/HA6D/CHATA/HBCI/HB6D/CHB7A/
HC6D/CHC7A/HD6D/CHD7A

.‘ B.A.,B.L.(Hons.)/B.A.,LL.B.(Hons.)/B.Com.,B.L.,(Hons.)/
B.Com.,LL.B.(Hons.)/B.B.A.,LL.B.¢Hons.)/B.C.A.,LL.B.(Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candiaates admitted from 2011 to 2016)
Third Year — Sixth Semester/Fourth Year — Seventh Semester
PROPERTY LAW (%
Time : 2% hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “An absolute restraint on alienation is void, but a partial restraint is

not”. Explain with relevant case laws and state the exceptions.

2. “The ri.éh't of redemption is a statutory right which cannot be fettered by

any conditions which impede or prevent redemption”. Comment.

3. “The foundation of the doctrine of Election is that a person taking the

benefit of an instrument must also bear the burden” - Discuss.
PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. “Law leans in favour of vesting and against divesting” - Explain.

5. 'Discuss the Doctrine- of Part Performance under the Transfer of

Property Act with case laws.

6. Define Lease.l How a lease be determined?

[P.T.O]
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following : ‘

(a)
(b)
©
(d)
(e)
®
(®

Attestation

Spes Successionis
Doctrine of Lis pendens
Unpaid Vendor's Lien
Periodic Leases
Easement by necessity

Actionable Claims

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

‘A’ grants to ‘B’ the right to cut teakwood for 12 years from a forest. The

grant require registration?

' trees are not to be cut until they attain a growth of 12 feet. Does the

‘A’ was the owner of Blackacre and Whiteacre. He mortgaged Blackacre
to X, then, he sold the equity of redemption in Blackacre to ‘B
Subsequently ‘A’ mortgaged Whiteacre to X’. Can X’ Consolidate?

‘A’, a Hindu, executed a deed of gift on 11.02.2019 in favour of ‘B’ and
delivered the deed to B. On 13.02.2019, ‘A’ adopted ‘C’ and a few days
later the gift deed was registered. ‘C’ contends that the gift deed was
inoperative, as it had not been registered until after his adoption.
Discuss the validity of the contention.

H 1904
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Register No.

H 1905 HXI/HA7A/CHATB/HBEH/HB7A/CHB7B/
HC7A/CHC7B/HD7A/CHD7B

BA. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/ B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2016)

Third Year - Sixth Semestes/Fourth Year- Seventh‘&emeéter/
Fifth Year- Tenth Semester ?i'

INTELLECTUAL PROPERTY LAW
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Discuss the objectives and principles of TRIPS Agreement and its

impact on Intellectual Property Law in India.

2. Discuss the provisions in the Trade Marks Act, 1999 on Infringement

and its limitation.

3. Discuss the criteria for the registration of new variety under the

Protection of Plant Varieties and Farmers' Rights Act, 2001.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. What constitutes "fraudulent or obvious imitation" under the Designs
Act?

5. Discuss the Economic and Moral Right of the author under the Indian
Copyright Act. '

6. Discuss the concept of "evergreening of patent" as explained in Novartis
AG v. Union of India.

[P.T.O.]
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PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(@) Doctrine of Exhaustion.
(b) Geographical Indication.
(c) Marx;an Theory on Private Property.
(d) Concept of Deceptive similarity.
(¢) Diamond v. Chakrabarty.
() Grounds of compulsory licensing tinder Patent Act.

(g) Doctrine of merger to demarcate idea from expression.

PART D — (2 x 6'= 12 marks)

>

‘,

Answer TWO of the following by referring to the relevant prov1s1ons of law

10.

and decided cases. Give cogent reasons.

A US based MNC "Hybrid Seed Co." owner of a patent that discloses the
invention of genes that confers tolerance to glyphosate herbicides, such
as Roundup and cells containing these genes. Oil seeds containing the
patented genes and cells is marketed under the trade name "Roundup
Ready Oil seeds". A farmer started growing oil seeds in their farm. He
never purchased Roundup Ready Oil Seeds nor obtained a licence to
plant it. But when the crop was tested it revealed that 95-98 percent
was "Roundup Ready Oil Seed". Discuss the liability of the farmer Who
unknowmgly cultivates the Roundup Ready Oil Seed variety.

" The Punjab University, as a part of academic activity distributed the

courses material for every subject taught in various course. The course
material was prepared by taking extracts from various text books,
compiled it and distributed to students on charging a nominal fees. The
publishers of the text books challenge that the making and distribution
of course material violates their copyright. Decide.

Plaintiff company using a mechanized hay rake developed of swathe
machine for cutting and raking of crops. He did it by dismounting the
hindmost wheel (back side wheel) and kept side by side with foremost
wheel. He got patent for his swathe machine. Defendant developed the
swathe machine by dismounting the foremost wheel and kept it side by
side to hindmost wheel. By doing this whether the defendant has
infringed the patented right of Plaintiff-Decide.

2 H 1905
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Register no. ’ ‘

HXJ/HA8D/HBCJ/HB8D/HC8D/HDS8D

B.A.B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com.B.L. (Hons.)/ B.Com.LL.B.
(Hons.)/B.B.A.LL.B. (Hons.)/B.C.A.LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2015)
Third Year - Sixth Semester/ Fourth Year - Eighth Semester
LAW OF INSURANCE it :
Time: 2% hours " Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. ‘Good faith lies at the root of all insurance contracts’. Discuss the principle
with special reference to life and fire insurance.

. ‘Once a deviation always a deviation’. Explain the statement bringing out the
difference between deviation and change in voyage. Enumerate the excuses,
if any to avoid the consequences of deviations.

Elucidate the principle of causa proxima in assessing the loss under Fire
Insurance.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. “Motor Vehicle Insurance is an amalgamation of several types of insurance”.
Analyse the nature and scope of Motor vehicle insurance contracts.

. Explain Nomination and Assignment in life policy.
. Explain the terms ‘Perils of the sea’ and ‘Perils on the sea’.
PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Double insurance and Reinsurance
(b) IRDA
(c) Loss and abandonment
(d) Risk
(e) Marine policies

(P.T.0.)



(f) Surrender value

(g) Consensus — ad - idem

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. ‘R’, insures his life. Thereafter the policy lapses due to non-payment of premium
within the due date. He applies for reviving the policy. He does not intimate the
insurer that he underwent treatment for dermatitisﬁgfhring the interim period.
On his demise, his widow claims the insurance money. The insurer says that
there is non-disclosure of the treatment undergone, so the insurer is not liable
under the policy. Decide.

9. A ship was insured for a voyage partly on inland waters and partly by sea,
from place ‘M’ to ‘H’. She commenced the voyage from ‘M’ with a defective
boiler which made her unfit for voyage in salt water. This was discovered
only when she got into the sea at the end of the river. She returned to ‘M’
had it repaired and sailed again from ‘M’, but was lost in the sea in a
hurricane. Is the insurance company liable — Decide.

10. The asstired represented that the insured Yacht was worth Rs.4,500/-,
whereas a month before that he was willing to sell it for Rs.2,250/-. Can
the assured claim the amount? Will the insurer be liable? Discuss.



Register no. | : {

HYA/HASD/CHASD/HBSD/CHBSD/
HCS5D/CHC5D/HDSD/CHDSD

B.A. B.L. (Hons.)/B.A. LL.B (Hons.)/B.Com. LL.B. (Hons.)/B.B.A. LL.B.
(Hons.)/B.C.A. LL.B (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2011 to 2017)

Fourth Year — Seventh Semester/Third Year — Fifth Semeaster

COMPANY LAW :-';,'.‘

\

Time: 2% hours v Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Define Memorandum of Association. Discuss how far Memorandum and
Articles of Association are binding on the company and its members.

. Define Prospectus. Explain the remedies and liabilities for misstatements in
the prospectus.

. What do you mean by Corporate Veil? Explain the circumstances when the
Corporate Veil of a company may be pierced. Refer to case laws.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Define shares and explain the procedure of Allotment of Shares.
. State the duties of the liquidator in winding up of a company.

. Examine the provisions relating to Corporate Social Responsibility under the
Companies Act 2013.

PART C - (S x 4 = 20 marks)
. Write short notes on FIVE of the following:

(a) Types of shareholders meeting

(b) Certificate of incorporation

(c) Independent Director

(d) Forfeiture of shares

(e) Foreign company

(f) Doctrine of Constructive Notice

(g) Amalagamation
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PART D - (2% 6= 12 marks)

Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

8. There were only two directors on the board of a company and the one
refused to act with another. There was no provision in the articles enabling
the general meeting of the shareholders to increase or reduce the number of
director. How to ensure working of the company? Decide.

9. The promter of a company before its incorporation entered into an

agreement to buy a plot. After incorporation the corgpany refuses to buy.
Examine the position of liability. 2 - '

10. A company put up telephone wires in a certain area. There was no power in
the memorandum to put up wires there. Mr. Ramesh who was the ownere of

that area cut the wires. Can the company sue for the damage done to the
wires? Decide.
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HYB/HA7C/CHA6B/HBDB/HB7C/
CHB6B/HC7C/CHC6C/HD7C/CHD6B

B.A., B.L. (Hons.)/B.A. LLB. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2016)
Fourth Year — Seventh Semester/Third Year — Sixth Semester
LABOUR LAW - I e
Time: 2% hours " Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the various dispute settlement Authorities under the Industrial
Disputes Act 1947.

2. Explain the Procedure for submission and certification of standing orders
under the Industrial Employment (Standing orders) Act 1946?

3. “The capacity of the employer to pay has no bearing for payment of
minimum wages” — Discuss.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Define Strike and explain when a strike becomes illegal under the Industrial
Disputes Act, 1947.

5. Discuss the immunities and privileges of a registered trade union.

6. Discuss the scope of reference power of the Government under the
Industrial Disputes Act, 1947.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Recognition of Trade union.
(b)  Closure.
(c) Advisory Boards.
(d)  Protected workman

(P.T.O.)
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(e) “Last come first go” e .
() Master and servant relationship

(g) Inspectors and their powers under the Payment of wages Act 1936.

.

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

Mano, an employee agrees with his employer tqBnake a deduction of
30% of his salary for the loan, he has taken for%‘ie construction of his
house. Later on, he contended before the payment of Wages Authority
that his deduction is excessive. Can.the payment of Wages Authority
entertain Mano’s claim?

A Registered Trade union makes on application to the Registrar of Trade
Unions for a change of its name duly signed by less than 2/3rd of its
members and the same was sent to the Registrar. Decide.

An employee who was terminated from service, raises a dispute before
the labour court. The Labour Court dismissed the petition, observing
that the' petitioner has approached the court without exhausting the
remedy of making an appeal to the Board of Management, which is an
appellate body, as against the order of Termination. Advise the employee.
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HYC

B.A. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2011 to 2014)
Fourth Year - Seventh Semester

REGULATORY LAWS

Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) 3’1
Answer TWO of the following in about 500 wbdrds each.

1. Explain the private interest theory of regulation.
2. Discuss the powers of the Securities Exchange Board of India.

3. State and explain the functions of PFRDA.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain about Regulatory Commissions under the Electricity Act.

S. Discuss about manipulative and deceptive devices prohibited under SEBI
Act.

6. Explain about the incorporation of TRAI.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Captive generating plant.
(b)  Procedure for filling up of vacancies in TRAI authority.
(c) Collective investment scheme.
(d) Regulation beyond the state.
(e) Rate fixation for service provider under TRAI Act.
() Intra-State transmission system.

(g) Meetings of SEBI.

(P.T.O.)
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PART D - (2 x 6 = 12 marks)

Answer TWO of the following by reféfring to relevant provisions of law and
decided cases. Give cogent reasons.

A public company is publishing a prospectus and inviting the public to
make offer to purchase securities. It had applied for registration in a

stock exchange. But, it is refused. Decide the status of the issue.

A company takes on lease an office space in a mall. A clause in the lease
deed states that electricity issues are to be addressed by the company. A
fortnight later the company is served with a notics from the Electricity
Board that an arrears of Rs. 50,000/- is pendig and it is to be paid

immediately, if not paid, line will be disconnected. Decide.

course of action for redressal.

A person purchases a SIM from an operator on a post paid plan. He
seldom uses the handset in which he installed the SIM. Next month he
receives a statement from the operator wherein the amount to be paid
for the previous month usage is stated as Rs. 8,000/-. Advise as to
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HYD/HA7D/CHA7D/HBDD/HB7D/CHB7D/
' HC7D/CHC7D/HD7D/CHD7D

B.A.B.L. (Hons.)/B.A.LL.B. (Hons.)/ B.Com. B.L. (Hons.)/ B.Com. LL.B.
(Hons.)/ B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2011 to 2016)

Fourth Year — Seventh Semester

BANKING LAW
(INCLUDING NEGOTIABLE INSTRUMENTS ACT)
Time: 2% hours :Maximum: 70 marks
PART A - (2 x 12 = 24 marks) ¥;
Answer TWO of the following in about 500 words each.

1. Discuss the various ways in which the Reserve Bank of India exercises
control over commercial banks in India.

2. Explain the changing pattern of banker customer relationship and
analyse the judicial perspectives relating to the present scenario of
banker customer relationship.

3. Analyse the salient features of the Negotiable Instruments Act by
referring to recent legislative and judicial developments.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Discuss the Vicarious liability of the bank, for the frauds committed by
their employees.

5. State the powers, function, and duties of a Banking Ombudsman.

6. Explain the importance of various regulations relating to credit policy of
banks in India.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Currency chest
(b) Transfer and Negotiation
(c) Exchange control
(d) Non Banking Financial Companies
(e) Special types of crossing
(f) E-banking disputes
(g) Collecting Banker.
(P.T.O))
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) PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law
and decided cases. Give cogent reasons. -
8. “A” is an employee in a bank and he helps to clear the loan application
of one of his relative with certain defaults and irregularity. The loan
approval letter was sent by the bank but subsequently the same was

rejected. A’s relative sues the bank for deficiency of service. Decide.

9. “X” deposits gold in a bank locker which he E,Qd rénted from ABC
Bank Ltd. Later on, the gold placed by “X” was *found to be missing.

“X” sues the bank for breach of bailment contract. Decide.

10. “A” has an e-banking account with XYZ Bank and “A” received an e-
mail stating that the authorities of the bank required changes in the
website and hence they demanded “A” to email the E-banking user
identity and password. “A” called the customer support through
telephone for verifying the genuineness of the email and they
confirmed the email as genuine email. Hence “A”, emailed the user
identity and password and was surprised to become a victim of
phising. “A” sues XYZ’ bank on the ground of negligence on the part
of their customer support, but the bank replied that “A” was advised
not to share passwords at the time of taking E-banking facility.
Decide.
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HYF/HASC/HBDF/HB8C/HC8C/HDS8C

B.A.B.L. (Hons.)/B.A.LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Eighth Semester

ENVIRONMENTAL LAW
(Including Animal Welfare Laws},
Time: 2% hours ' 'Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the constitutional obligations of the State and citizens to protect
natural environment.

2. Explain the various authorities constituted under the Wildlife Protection
Act, 1972.

3. Explain climate change and examine the steps taken by the international
community to minimize the Global warming.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the law relating to plastic waste management in India.

5. Analyse the relevant provisions of the Code of Criminal Procedure and the
Code of Civil Procedure to abate environmental pollution.

6. Define environment and ecosystem. Examine the various components of
Ecosystems.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a)  Polluter pays principle
(b) National parks
(c) Green Tribunal

(P.T.O.)
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(d) Brundtland Report
(e) Rain water Harvesting
(£ Cruelty to animals

(g) Disaster management

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

»
T X

White Lagoon is a company operating coastal reS(tl‘b and entertainment.
The company was found to have erred in many aspects of Coastal
regulation zone. However, the company contended that it provides
employment in the tourism sector and the violations are insignificant.

Decide.

The government permitted the Municipality to use a open space for the
construction of a bus stand. It found an unused lake suitable for the Bus
stand. “SAVE”, a voluntary organization, challenges the permission, as it

would cause ecological imbalance. Decide.

provision — Decide.

India and its neighbouring states have entered into an agreement for
water sharlng during 1960. It did not have any provision relating to
environmental aspects. A dispute arose in relation to the operation of the
agreement. The neighbouring country contended that there cannot be
any environmental obligation as the agreement does not have any such
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H 1842 HYG/HA8B/CHA7C/HBDH/
HB8B/CHB7C/HC8B/
CHC7C/HD8B/CHD7C’

B.A.,B.L. (Hons.)/ B.A.,,LL.B. (Hons.)/ B.Com., B.L. (Hons.)/B.Com.
LL.B. (Hons.)/B.B.A., LL.B. (Hons.)/B.C.A., LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS,

NOVEMBER 2019. !

(For the candidates admitted from 2011 tét_-;?.%lG)
Fourth Year — Seventh Semester/Fourth Year — Eighth Semester
LABOUR LAW — II
Time : 21 hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “ILO has played a significant role in evolving universally acceptable

principles and standards of social security which guided the
developments in the field of social security throughout the world”.
Discuss.

2.  Analyse the provisions relating to different benefits available to workers
under the E.S.I. Act 1948.

3. Explain the scope and applicability of the provisions of the Factories Act
relating to welfare of the workers.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the procedure of adjudication of disputes and claims under the
Employees State Insurance Act 1948.

5. Analyse the process of “set on” and “set off’ of allocable surplus under
the Payment of Bonus Act 1965.

* 6. Define ‘Gratuity’ and evaluate the conditions under which a person is
eligible for payment of gratuity under the 1972 Act.

[P.T.O.]
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PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Employment of young person. under ‘the T.N Shops and
Establishment Act 1947.

(b) Available surplus.

(c) Contributions to ESI Funds.

(d) Doctrine of Notional extension.
(e) Disablement benefit.

() Double employment.

(g) Hazardous employment : ?

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

The gratuity amount of ‘Mahendran’, a workman, was not paid by his

* émployer on the grounds that the negligence on part of ‘Mahendran’ has

caused great loss to the management. Discuss whether ‘Mahendran’ can
recover his gratuity amount from his employer.

‘B’, the conductor of a bus owned by State Transport Corporation after
his duty on 11.10.18 left the bus in the depot. He boarded another bus to
reach his home. The bus met with the accident as it collided with a

* stationary lorry. He got injured in the said accident and in the hospital

on 20.10.18 he died. Can his dependents claim the benefit from the
corporation under the Employees Compensation Act 1923? Advise.

‘Ravi’ was employed in a Toy manufacturing industry on regular wages. -
During the festival seasons the industry got heavy profits. The workers,
union headed by ‘Ravi’ demanded Bonus. Advise ‘Ravi’ and the workers
union on the legality of their claim. '

2 ' H 1842
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HYH/HBED

B.A. B.L. (Hons.)/B.Com. B:L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2011 to 2014)
Fourth Year - Eighth Semester/Fifth Year — Ninth Semester
CYBER LAW AND FORENSICS 5,’.
¥
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the difference between cyber contraventions and cyber offences. List
out the acts which amount to cyber contravention under the Information
Technology Act 2000.

2. Discuss the various jurisdiction issues in cyber space.

3. “The modél law on e-commerce deals with different types of business
transaction” - comment.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. What are the legal issues in e-banking?

5. “Child pornography is a serious offence in India” — Discuss the relevant legal
provisions dealing with child pornography.

6. Discuss the significance of “electronic signature” for the smooth functioning
of E-Commerce.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(@) Metatag
(b) Cyber squatting
(c) Asymmetric crypto system

(d)  Click-wrap contract

(P.T.O.)
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(e) E-mail related crimes
() Salami Attack

(g) Convergence of technology

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

Y tube is a web portal which allows any one in étﬁe world to download

and upload films or scenes. Y tube will permit upleading or downloading
only after the browser signs an agreement which clearly mentions that Y
tube is not respansible for any copyright infringement and sole
responsibility would be with the customers who uploads. Decide whether

Y tube is liable for online copyright infringement.

A video game system REGA was manufactured by X’. Y’ was a developer
of video game catridge SWETA. Y’ believing that a common piece of code
that occurred in all the game catridges was the access code copied that
piece of code and inserted it into the games. X’ alleged that Y’ infringed
his copyright by disassembling code contained in the video game

system. Decide.

committed by Navin and Ramesh and their liability.

Navin was employed in Yera Bank Ltd. He owed much to his friend
Ramesh who financed him for his higher studies. Showing gratitude and
to repay, Navin enabled Ramesh to get access into the bank computer
and obtain details and information about the accounts of certain persons
Ramesh then innocently passed on the details over internet to two other
persons who used them for fraudulent purpose. Make out the offences
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. Register no. l J

HYI/HA6A/HBDI/
HB6A/HC6/\/HD6A

B.A., B.L. (Hons.)/B.A. LLB. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2015)
Fourth Year — Eighth Semester/Third Year — Sixth Semester

i
COMPETITION LAW £
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Examine how the Competition Act, 2002 ensures that vertical agreements
does not take place in India.

2. Discuss the role of CCI in dealing with combinations in India.

3. “The higher the number of competitive constraints the wider will be the
definition of a relevant market in a competition case” — Discuss.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the evolution of Competition Law in India.
5. Discuss the powers and functions of CCIL.
6. Explain the salient features of Sherman Act.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(@) Cement Cartellisation case.
(b)  Abuse of Dominance.
() CCI and other sectoral regulators.

(d)  Per se Rule.

(P.T.O.)
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T

(e) Enterprise.
4] Agreement.

(g)  Unfair trade practice.

PART D - (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

decided cases. Give cogent reasons.

Poly Ltd. manufacturer of foot wears entered into gm agreement with City
Traders for sale of its products. The agreement (pcludes among others
the following clauses: (a) That the purchaser shall not deal with goods,
products, articles manufactured by any person other than the seller, (b)
That the purchaser shall not sell the goods manufactured by the seller
outside the municipal limits of the city of Secunderabad. Examine the
validity of the above agreement.

A & Co, B & Co. and C & Co. were alleged to have committed cartel. A
complaint was filed against them before the CCI. After DG had started
investigation, B & Co. confessed before the CCI that they entered into a
cartel agreement and gave some vital information. Later B & Co. claimed
lesser penalty as they gave vital information. Decide.

A complaint was filed against X’ Cricket Association stating that they
were violating provisions of the Competition Act. But the Cricket
Association argues that they do not fall under the definition of
‘enterprise’ and hence CCI do not have jurisdiction to decide the case.
Decide.
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H 1843 HZAJ HA9A/ HBEA/|
HB9A/HCIA/HDIA

B.A.B.L. (Hons.)/ B.A.LL.B. (Hons.)/B.Com. B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.)
DEGREE (Semester) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 ui@w)
Fifth Year — Ninth Semester

LAW OF TAXATION

Time : 21 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1. Define Income from house property. Examine the procedures for
calculation of income from house property to impose tax under the

Income Tax Act, 1961.

2. Discuss the various procedures for assessment under the Income Tax
Act, 1961.

3. Discuss the scope of supply, time and value of supply under the Central
Goods'and Services Tax Act, 2017. '

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Discuss the various canons of Taxation.
5. Discuss about advance ruling under the TNGST Act, 2017.

6. Analyse the procedures for treatment of losses under the Income Tax
Act, 1961.

[P.T.O.]
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PART C — (5 x-4 = 20 marks)
Write short notes on FIVE of i;he-,fo'HO'ivirig :
(a) Progressive Taxing System
(b) - Agricultural Income :
(c) Double Taxation
(d) Returns under the CGST Act, 2017.
(e) Assessment of Special class assessees.
() Casual Ihcome
(g) Audit

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law.

(a)
(b)

©

Give cogent reasons.

Provide the tax rates and permissible deductions for the following for

- the assessment year 2019-2020.

(a) Tax rate for senior citizens
(b) Payment towards National Disaster relief fund
(¢) Income from royalty. 3

The income and e'xﬁenditu’re particulars of Mrs. X for the previous year
2018-19 is as follows:

Income (Per annum) Expenditure (Per annuin)

Basic pay = Rs.40 lakhs LIC Premium = Rs.2 lakhs
Dearness = Rs.20 lakhs Pension scheme = Rs.10 lakhs
Allowance

CCA = Rs.1lakhs Fixed deposit = Rs.10 lakhs

2 _ H 1843
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-(d) ""HBAT?'.::.i?i‘. , ~ Rs.2lakhs Tuition fee , = Rs.1lakh

(e) Income from game = Rs. 20 lakhs d

10.

~show

Calculate the taxable - 1ncome. of Mrs. X for the assessment year
2019-2020

M/S Darnny Ltd, is a chain of hotel company havmg annual turnover of
Rs. One crore. They wanted to apply for Compos1t10n levy under the
TNGST Act, 2017. AdV1se M/S Danny Litd. company g

“Il

3 - ~ H 1843
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H 1844 | ' HZB/HA9B/
|HBEB/HB9B/
HC9B/HD9B

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/
B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.)
DEGREE (Semester) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to@i‘)w)
Fifth Year — Ninth Semester
LAW OF CRIMES - 11

(Code of Criminal Procedure, Including Juvenile Justice Care and Protection
Act and Probation of Offenders Act)

Time : 24 hours : Maximum : 70 marks

_ PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Examine the constitutional safeguards made available to an accused
person in general and the rights guaranteed in specific, with decided
cases. :

2. Narrate the procedure relating to proclamation of persons and
attachment of his property under the provisions of the Code of Criminal
Procedure, 1973. '

3. State the procedure the officer in charge of the police station need to
follow in cases of suicide under the Code of Criminal Procedure 1973.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4. “Every offence shall have a: distinct charge and every distinct charge
shall be tried separately” — Examine the rule with exceptions if any.

5. What is Judgement? Enumerate the contents of the Judgement.

6. Discuss the nature and powers enjoined on the Appellate courts under
the provisions of the Criminal Procedure Code, 1973. .

[P.T.O.]
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PART C — (56 x.4 = 20 manks)

Write short notes on FIVE of the folléwing :

(a)
(b)
(©
(d)
(e)
®
(8)

Court of sessions
Proclaimed offender
Mode of Arrest
Cognizance’
Compounding of offences

Victims Compensation scheme

- Anticipatory Bail : A (g

g
PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

‘A’ is alleged to have committed an offence, punishable with sentence of '

and decided cases. Give cogent reasons.

more than 7 years of imprisonment. On a. bail application preferred by
him the sessions couit released him without giving notice to the public
prosecutor. Decide the Legality of the order of release.

‘A’ was sentenced by a sessions Judge on a trial conducted at a wrong

place of séssions division. ‘A’ challenges the order. Decide.

‘A’, a witness, gives statement before the Investigating officer. The
statement is placed as a vital evidence by the prosecution. Examine the
evidentiary value of the statement.

H 1844
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HZC/HA9C/HBEF/HB9C/HC9C/HD9C

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/B.Com. LL.B.
(Hons.)/BB.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2015)

Fifth Year — Ninth Semester/Tenth Semester

CIVIL PROCEDURE CODE ‘,’.

\ ".
Time: 2% hours ¥ Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “Vigilantibus et non dormientibus, jura subveniunt” ~ Explain the maxim
with the provision of Limitation Act.

2. Enumerate the essential requisites of pleadings and explain the modes of
amending the pleadings.

3. Discuss the different stages of a suit from the time of institution till it is
finally determined.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Discuss the nature and scope of Caveat.

Ul

. Explain the powers and functions of Commissioner appointed by the Court.
6. Discuss the mode of Acquisition of Ownership by possession.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Trial in open court
(b) Rejection of plaint
(c) Res Judicata
(d) Affidavit
(e) Revision
(f) Review

(g) Attachment before judgment

(P.T.O.)
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PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to the relevant provisions of law and
decided cases. Give cogent reasons.

L 3

8. “A” holds a decree against “B” for Rs.50,000/-. “B” holds a decree against “A”
for Rs. 60,000/-. “A” and “B” both apply for execution of their decree. -
Decide.

9. Kumar borrowed a sum of Rs. 1,00,000/- on a promissory note from Rajesh.
The promissory note was executed on 15.04.

2’9 Rajesh died on
07.06.2019 leaving behind his daughter Swetha &ed 16 years. Swetha
wants to file a suit against Kumar. Advise Swetha.

10. ‘A’ filed a Writ petition under Article 226 before the High Court which was

dismissed on merits. Again he filed another Writ petition under Article 32 of
the Constitution. Discuss the maintainability.
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 Register no.

HZD/HA9D/HBEC/HB9D/HC9D/HD9D

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.)/B.Com. B.L. (Hons.)/ B.Com. LL.B.
(Hons.)/B.B.A.LL.B. (Hons.}/B.C.A.LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2011 to 2015)

Fifth Year — Ninth Semester
LAW OF ELECTIONS

’

‘,o

Time: 2% hours VY Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. ‘Elections in India are not a new phenomenon or a new concept born in
modern times’. Trace the history of elections in Ancient and British India.

2. The Constitution of India expressly bars the interference of courts in
electoral matters. Discuss with related provision and cases.

3. What are considered as electoral corrupt practices? Write the difference
between electoral corrupt practice and electoral offence.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about-300 words each

N

. Analyse the verdict of Lily Thomas v. Union of India with recent cases.

. What is Lokpal? Write about the merits and demerits of Lokpal.

6. Describe the procedure of preparation and revision of electoral rolls.
PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

9

(a) Universal Adult suffrage
(b) Women Reservation

(c) Bribery

(d) VVPAT

(e) NOTA

(f) Election expenditure

(g) Opinion polls

(P.T.O.)
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PART D - (2.x 6 = 12 marks) i
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

. Mr. X a candidate belonging to a:Scheduled Caste had failed to mention in
his nomination paper the caste to which he belonged. However along with
the nomination form he annexed a certificate from the competent revenue
officials showing his caste. Decide the validity of his nomination.

. An election petition was filed by the defeated candijdate challenging the
Election Commission’s order declaring the poll ag@void in two polling
stations in the constituency and praying for re-f®Il by impleading the
Election Commission as one of the respondent. Decide the sustainability of
the petition.

10. In the state of ‘AN’ soon after the completion of the general elections a new

legislative assembly was constituted. This new House was called upon by
the president to elect certain members to the Rajya Sabha. The last date for
making nominations was scheduled before its first meeting in the house.
Therefore the newly elected members of the assembly nominated the
members to the council without taking Oath. Decide the validity of the
nomination.
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H 1847

B.A.B.L. (Hons.)/B.Com. B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2014)
Fifth Year — Tenth Semester
. PRIVATE INTERNATIONAL LAW éj?
Time : 24 hours . Maximum : 70 marks
.PAR'T A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Discuss the efforts of international community to codify Private
International Law. Evaluate India's position towards codification.

2. Critically evaluate the concepts of “Domicile’ and ‘Residence’.

3 Examine  Indian laws relating to ‘foreign contracts’ and ‘foreign
negotiable instruments’.

PART B — (2 X 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4, Examine the choice of law approach towards procedural .and
' Substantive laws. . ’

5. Evaluate the concepts relating to recognition of foreign marriages.

6. Trace the provisions in Indian laws relating to enforcement of foreign '
arbitral awards. E

PART C — (5 x 4 = 20 marks)
% Wri;ce short notes on FIVE of the following :
(a) Double Renvoi 4 '
(b) Indian laws relating to adoption by foreigners
() Lex fori | | |
(d) Jurisdiction

[P.T.O.]



(e) Effects of foreign insolvency proceedings

(H  Proof of foreign laws

=
N

(g) Private international iavv re‘léth;g to immovable property

PART D — (2'x 6 =12 marks)

" Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

Mr. X’ is a Muslim and was married to a Muslim woman in Saudi
Arabia. Both husband and wife were residents of Saudi Arabia at-the
time of marriage. Subsequently, the wife moved to her domiciled
country, ‘India’. Mr. X’ pro'nou‘nce'd triple talaq while ,she stayed in
India. She questioned the validity of triple talaq befgre an Indian court.
(It is assumed that triple talaq is valid in Saudi Arabia). Decide.

Mr. Ram's family is settled in United States with movable and
immovable properties situated in India and United States. He died
leaving a will made as per the laws of United States. A family member
in India challenges the validity of the will before an Indian Court.
Decide.

Mr. ‘X’ obtained a Court order in Singapore against Mr. Y . Mr. X
found that the entire property of Y’ is situated in India: Therefore
Mr. X' filed a petition before an Indian Court to enforce the order of the
Singapgre court. Decide.

2 H 1847
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H 1848 [szmsé(gmaK ]

B.A. B.L. (Hons.)/B.A. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2017)
Fifth Year — Tenth Semester/Third Year — Fifth Semester
MARITIME LAW oo

b .
v

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the follo'wing in about 500 words each.

Define and discuss the nature of Admiralty law and its relatlon to public
and private international law.

Critically examine the history of Admiralty Courts and their jurisdiction
in India.

Explain ‘sea’ as a common heritage of mankind. Discuss the challenges

posed ofn common heritage of mankind.

[ PART B — (2 x 7 = 14 marks)

Answer TWO of the.following ini about 300 words each.
Write a brief note on Immunity of Government ships.

Discuss the Juridical personality of the ship.

TExamine ship owner’s liabilities for damage to ports.

PART C — (5 x 4= 20 marks)
Write short notes on FIVE of the following :
(a) Law Merchant
(9) "Acti(')ns in rem and in perspnan_i
{¢) Changing concepts of maritime frontiers .

{d) - Acquisition and transfer of ships

[P.T.O3]
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(e) Towage
) ‘The laws of Harbours dnd Puotage
() Collisions ’ \, i

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to the relevant provisions of law

10.

and decided cases. Give cogent reasons.

, Some necessaries were supplied to ship in relation to ship’s Operatmn

and maintenance. Decide whether maritime lien in created in relation to
supply of necessaries. g

. . o e ] g
The owner of a ship borrowed money by mortgagﬁ the ship and eargo
and a bottomry bond is executed. The money Was borrowed for the
purpose of repair to ship. Decide whether the bond is vahd

A merchant vessel collided with a fishing vessel. The dock officer X’ in
the merchant vessel was killed. The widow of X’ clalms compensatlon

Decide.

2 H 1848
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H 1910 .[ HZH/HBEI

B.A. B.L. (Hons.)/B.COM. B.L. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2011 to 2014)

Fifth Year — Tenth Semester

»

INTERNATIONAL TRADE LAW.

Time : 21 hours ‘ : 4 : ﬁaximum : 70 marks
PART A — (2 x 12 = 24 marks) - -
Answer TWO of the following in about 500 words each.

1. Describe the selient features of the WT'O Agreement and examine the
efficacy of the primacy clause of the said agreement.

2. Examine the importance of New International Economic Order in
International trade.

3. “UNCITRAL Model Law on arbitration is essentially applicable to the
International commercial arbitration rather than domestic arbitration” -

Do you agree?
PART B — (2 x 7 = 14 marks)
Answer. TWO. of the following in about 300 words each.

4. Defie the terms “Blue Box Measures” and “Green Box Measures” and
distinguish the same under the WTO regime pertaining to agriculture.

5. Briefly describe the implications arising out of OECD guidlines in
developing CBC reporting system for the MNCs.

6. What is doctrine of mutual supportiveness? Describe its relvance in the
light of developing Doha Declaration of TRIPS on Public health.

[P.T.O.]



10.

A)

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) CTE

(b) - UNCTAD

(c) DSBof WTO .

@ ICISD

(e) ODR

® DTA

(& IFC vy

PARTD — (2x6=12 marks)

Answer TWO of the follovﬁn'g referring to the relevant provisions of law

and decided ca'ses'. Give cogent reasons.

Hindia and Paakistan enter a water sharing treaty, facilitated by World
Bank. The Paakistan army facilitates infiltration of armed terrorists
into the J and K of Hindian territory. As retaliatory measure Hindia
diverts the water flowing from Hindustan River. Paakistan refers the
matter to ICISD of World Bank. Decide.

Sindia happens to be a world pharmacy for generic drugs. It grants
compulsory license for Conciliatia Indica, a drug which: cures dengue.
Dr.Potti Laboratories produces the same and exports to East Aftrica.
The same has been patentéd patented by moon Pharma Group, an MNC
based in US and it challenges the decision of the Controller of Patents
before the IPAB in Sindia. Decide.

Nindia modernizes its air force, as a part of that it-orders procurement
of twenty Graffel fighter jets from Francee. Boing, an MNC based in
U.S., challenges the same before the DSB of WTO . U.S. and Francee are
members of the WTO GPA Agrement, whereas Nindia has not retified
the same. Decide.

2 ' H 1910
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HZI/HB6B/CHB6C

B.A. B.L. (Hons.)/B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2011 to 2016)

Fifth Year — Tenth Semester/Third year — Sixth Semester
CUSTOMS AND EXCISE LAWS . ’
!
Time: 2% hours Q;'Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

—

. Discuss the procedures for levy and collection of duties under the Customs
and Excise laws.

N

. Analyse the various goods under the Customs and Excise laws in India.

3. Examine the procedure for Appeal and Revision before the Tribunals under
the Customs and Excise laws.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Examine the constitutional provisions relating to taxing policies.
5. Define warehouse. Analyse the regulations relating to warehouse.
6. Discuss the procedure for Refund of duty.

PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

{a) Settlement of cases

(b) Special Economic Zone

(c) Valuation of goods

(d) Notified goods

(e) Entries of VII Schedule

(f) Customs port

(g} Advance ruling

(P.T.O.)
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PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

8. The Tamil Nadu Government imposes conveyances entry duty on other state
vehicles into its local jurisdiction. Mr. X’, challenges this order by referring
the regulations on Conveyances on entry. Decide.

9. Mr.Y, coming from Dubai, was found in possession;of 150 gm. of Heroin
powder in his belt. It was seized and confiscated. D§fide the further course
of action.

10. M/S. Kanmani and Co., imported cassettes which consisted of a popular
musician’s songs. Customs officials imposed duty on cassettes as “Goods”.
Decide.
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HBAF/HB2A/CHB2A/HC2A/CHC2A/HD2A/CHD2A

B.Com.B.L .(Hons.)/B. Com.LL.B. (Hons.)/ B.B.A.LL.B.
(Hons.)/B.C.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2011 to 2018}
First Year — Second Semester

BUSINESS ENGLISH

Time: 2% hours ;\,Maxi'mum: 70 marks
PART A — (2 x 12 = 24 marks) ¥;
Answer TWO of the following in about 500 words each.

1. Explain the principles and the importance of communication.

2. What is Bank Correspondence? Bring forth the characteristics and the
types of Bank Correspondence.

3. Discuss the role of Communication in a globalised world after LPG.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Write a letter to the bank manager to know the outstanding balance in
your loan account.

5. You are the sales representative for your company. Write a letter to Mr.
John Mark of ABC Private Ltd., introducing one of your new products or
services. Be sure to give the important features/details about your
product.

6. Write a memo to an employee asking explanation for going on leave
without prior permission.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) LSRW
(b) Parts of Business Letter
(c) Agency Correspondence
(d) Explain the types of business reports
(e) Write the uses of websites
(f) Barriers of Communication
(g) What is Office Order?
(P.T.O.)
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PART D — (6 x 2 = 12 marks)
8. Answer SIX of the following very briefly:
(a) Non-verbal Communication
(b) Acknowledgement letter
(c) Grapevine
(d) AIDA model
(e) Point out four abbreviations used in bank correspondence.

f) Correspondence

L
A

(
(g) Agenda
(

h) Minutes of the meeting



Register no. [ } L ’ ‘
! HBAG
B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.
(For the candidates admitted during 2013 and 2014)
First Year - Second Semester
PRINCIPLES OF MANAGEMENT
Time: 2% hours Maximum: 70 marks

1

16

pARTA-42x12=z4mmkg-§f
Answer TWO of the following in about 500 wotds each.

Elaborate the principles of management propounded by Henry Fayol.
Describe the nature and advantages of planning.
Explain the various stages involved in selection process of an employee.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Discuss the functions of Bar Council of India.
Debate whether management is a Science or Arts or both.
Write in detail the characteristics of decision-making.

PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Write down the contribution made by Peter Drucker to management
thought. :

(b) Explain the process of Management by objectives.

(c) What are the advantages and disadvantages of ceﬁtralization?
(d) Highlight the needs of Co-ordination.

(e) Briefly explain Herzberg’s theory of Motivation.

. () Explain the various Forms of departmentation.

(g) Emphasize the significance of motivation.

(P.T.O.)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) Legal Ethics

(b) Innovation

(c) Adaptability of technology

(d) Controlling

(e) Organisation chart

(f) Planning Premises

(g X theory

(h) Delegation of Authority



|
D)

Register no.

B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2013 and 2014)
First Year - Second Semester
PRINCIPLES OF ACCOUNTING

Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) k
Answer TWO of the following in about 500 wogds each.

1. Describe the different concepts of Accounting. d

2. The following are the balances extracted from the books of Mr. Swamy as
on 31.3.2003. Prepare Trading and Profit and loss Account for the year
ended 31.3.2003 and Balance sheet as on that date:

Rs. Rs.
Capital 1,00,000
Opening Stock 20,000
Machinery 40,000
Purchases 70,000
Purchase returns 1,000
Sales 90,000
Sales returns 1,000
Wages 2,000
Salaries 5,000
Office rent 2,000
Insurance 1,000
Sundry Debtors 50,000
Sundry Creditors 29,000
Cash 1,000
Bank balance 28,000

Adjustments:

(@ On 31.3.2003 closing stock Rs. 20,000
(b)  Outstanding salaries Rs. 1000

(c)  Prepaid insurance Rs. 500

(d) Bad debts Rs. 1,000

(e) Provide 10% depreciation on machinery.

3. Sundar, Suresh and Shankar were three partners sharing profits and
losses in the ratio of 3:2:1 respectively. On 31.3.2003 their Balance sheet
stood as follows.



Suresh retires on that date subject to the following adjl,}stments:

(@)
(b)
(©
(d)
(e)

99

Liabilities RS. Assets
Creditors 1,90,000 Cash at Bank
Bills payable 50,000 Debtors 1,60,000
General Reserve 1,20,000 Less: Bad debts 5,000

Sundar’s capital 4,00,000 Stock
Suresh’s capital 3,00,000 Machinery
Shankar’s capital  2,50,000 Premises

13,10,000
To raise reserve for bad debts by Rs. 19,500
Goodwill of the firm is to be valued at Rs. 1,80,000
To depreciate machinery by 10%
To increase the value of stock by Rs. 30,000

To increase the premises value by 10%

Rs.
25,000

1,55,000
2,50,000
4,30,000
4,50,000

13,10,000

Sundar and Shankar decided to write off firm’s goodwill. Their new
profit sharing ratio is 3:2. Prepare Revaluation Account, continuing

Partners Capital Accounts and the Balance sheet.

PART B - (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

4. A company was incorporated on 30t June 1984 to acquire the business
of Mohan as from 1st January 1984. The accounts for the year ended 31st

December 1984 disclosed the following:
(a) There was a gross profit of Rs. 2,40,000

(b) The sales for the year amounted to Rs. 12,00,000 of which Rs.

5,40,000 were for the first six months.

(c) The expenses debited to Profit and loss Account included.

Director’s fees 15,000

Bad debts 3,600
Advertising (under a monthly contract of Rs. 1,000) 12,000
Salaries 64,000
Preliminary expenses written off 5,000
Donation to political parties given by the company 5,000

Prepare a statement showing profit made before and after incorporation.

2
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S. From the following asset side of the balance sheet of Sundaram
computers Ltd. for the years ended, 31.12.01 and 31.12.02, prepare a

Al

common size balance sheet for 2001 and 2002. |

Rupees in Lakhs

Assets 2001 2002
Cash 100 140
Debtors 200 300
Stock 200 300
Land and Buildings 400 s 370
Plant 300 ( 270
Furniture 100 140
1,300 1,520

6. Distinguish between Receipts and payments Account and Income and
Expenditure Account.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:

(a) Calculate the earnings per share from the following information:

Net Profit before tax Rs. 10,00,000
Tax on profit S50%
15% preference share capital (Rs. 10 each) Rs. 2,00,000
Equity share capital 4,700 shares of Rs. 100 Rs. 4,70,000
Each

(b) What are the various sources of funds?
(c) From the following data, calculate profit prior to incorporation:
Time ratio: 1:2
Sales ratio: 1:3
Gross Profit: Rs. 1,70,500
Administrative expenses: Rs 69,600
Expenses relating to sales: Rs. 18,600
Preliminary expenses: Rs. 11,560

(d) What is meant by interim dividend?
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(¢) A and B are partners sharing profits and losses in the proportion of
3/5:2/5: They agree to admit C-into partnership, who is to get 1/5t%
share in the business. C brings in Rs. 1,00,000 for his: capital and Rs.
40,000 for the 1/5t% share of goodwill which he acquires 3/20% from A
and 1/20% from B. The profit for first year of the new partnership
amounted to Rs. 2,00,000. Make the necessary journal entries in
connection with C’s admission and apportion the profit between the
partners.

() Arul purchased machinery under the hire-purchase system from
Mr.Balu. The cash price of the machinery v!ﬁ% Rs. 15,000. The
payment for the purchase is to be made as follt)ws: On signing the
agreement Rs. 3,000; end of the first year: Rs. 5,000; end of the
second year Rs. 5,000; end of the Third year Rs. 5,000-Calculate the
amount of interest included in each instalment.

(g) How does book-keeping differ from accounting?

PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) X,Y and Z share profits as 1/2 to X, 1/3 to Y and 1/6 to Z. Z retires.
Calculate the gaining ratio of X and Y.

(b) What are the provisions affecting accounting treatment in the absence
of a partnership deed?

(c) What is meant by Bank Reconciliation Statement?

(d) What is meant by Buy Back of Securities?
(e) Name the parties interested in accounting information.

(f) Write a note on Dual aspect concept.

(g) Suguna Co. Ltd. has been suffering heavy losses in the past. So, it has
decided to go for reconstruction scheme by reducing 22,000 Equity
shares of Rs. 100 each into Rs 50 each so as to write off accumulated
losses of Rs. 10,70,000. Give Journal entries to record the above
transaction.

(h) Opening stock — Rs. 29,000; Closing stock — Rs. 31,000; Purchases -
Rs. 2,42,000; Gross profit ratio 20% on sales; Calculate stock

turnover ratio.
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B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2013 and 2014)
Second Year — Third Semester
SOCIOLOGY

Time: 2% hours Maximum: 70 marks

PART A — (2 x 12 = 24 marks) {"
Answer TWO of the following in about 500 words each.

. Discuss the various theories supporting to the origin of caste system in
India.

. Define sociology. Enumerate the development and scope of sociology.
. Explain the importance and various forms of social stratification.

' PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Highlight the role of women in “Self Help Groups”.
. Describe the various types of deviance.
. “Is Joint Family Structure in India disintegrating”. Discuss.

PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(@) Primary kin and secondary kin
(b) Social significance of deviant behaviour
(c) Types of social control
(d) Merits of Joint Family
(e) Child Marriage Restraint Act
(f) Linguistic Diversity
(g) Demerits of caste system
(P.T.O)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) Couvade

(b) Affinal kin

(c) Monogamy

(d) National Integration

(e) Sanctions

() Community

(g) Ascribed status

(

h) In group and out group
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B.Com., B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019. :

(For the candidates admltted during 2013 and 2014)
Second Year — Third Semester
FINANCIAL MARKET AND SERVICES

Time : 24 hours Maximuin : 70 marks

s
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PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1. Explain in detail the role and structure of Indian Financial System.

‘9. What are the characteristics of venture capital? Enumerate the RBI
guidelines.

3. Describe the role of SEBI in primar'y and secondary mar_ket.l
’ PART B — (2 x 7=14 marks)
Answer TWO of the following in about 300 words each.
4. ‘Write a note on emerging trends in Indian Capital Market.

5. Discuss the constitution and management of Mutual Funds under the
SEBI regulations.

6. Define forfeiting. How does forfeiting help the export_er?.'
PART C — (6 x 4 = 20 marks)

7. Write short notes on FIVE of the following:
(a) What are the types of funds offered by mutual funds?
(b) Write a ‘note on portfolio investment.
(¢) Discuss the merits of Indian stock market:
(d) Analyse the defects of Indian moﬁey market.

() How is credit rating advantageous to investors?

[P.T.O.]
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(0 Identify the problems faced by the financial serviceé sector in
India. : ' -

+¥., 4g). - Describe the role of NBFCs'in the é’i‘o:’Vth+0f Indian economy.
g v, B 5 1 o e - ihl g hie

PART lj—-s(é S '-——’?12 mérks) : -

8. Answer SIX of the following very briefly.

(8) Anti-—money laundering

(b) Listing of securities

(¢ ICRA

(d) Borrowing

(Q) Debt — securitisation

® CSDL

(g) Financial Instruments

(h) Speculation

2 H 1853
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B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2013 and 2014)
Second Year - Fourth Semester

INDIAN ECONOMICS AND HUMAN RESOURCE DEVELOPMENT

Time: 2% hours imum: 70 marks

PART A - (2 x 12 = 24 marks) ‘v
Answer TWO of the following in about 500 words each.

. What are the salient features of Indian Agriculture?

. What is unemployment? What are its causes? What are the measures
taken by the government in reducing unemployment?

. Describe the issues and challenges of small scale and cottage industries
and its remedial measures.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Explain Theory of Demographic transition.
. What are the Elements of effective Human Resource Development?
. Describe the salient features of MGNREGA.

PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:

(a) Difference between Growth and Development
(b) Different kinds of unemployment

(c) New Industrial policy

(d) Measurement of National Income

(e) Issues of Agricultural Marketing

(f) Social security schemes

(g) Role of public sector.

(P.T.O.)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following véry briefly:

(a) NITI

(b) RLEGP

(c) Preventive checks

(d) Personal Disposable Income

(e) Demonitization

(f) Inflation

(g) Micro-enterprises

(h) MSME
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B.Com., B.L.(Hons.)/B.Com., LL.B.(Hons.) DEGREE (SEMESTER)

EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2013 to 2015)

Third Year — Fifth Semester/Second Year — Fourth Semester

o
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MARKETING MANAGEMENT

Time : 21 hours Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
Explain the role of new product development process in an organization.

What is marketing mix? Discuss the elements of marketing mix with

examples.

Who are the major players in advertising? Discuss the various types of

advertising. Give some examples from the- Indian scenario.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

Explain the concept of need, wants and demand with the help of

{

examples.

]

What are the factors used for meaSuring demographic environment?

How relevant are they for business decisions?

What is meant by a marketing channel? What are the objectives of

channel or distribution management?

[P.T.O]
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(a)
(b)
(©)

(d)
(e)
®
(8)

Wri:t"evs'hort' notes on FIVE of the fé'l.?lo'win_g. - 3

109
PART C — (5 x 4 = 20 marks)

b
What is online adverti‘semeﬂt?_E’iplain with example.

Explain the components of POP sales (Point Of Purchase).

What are the keydisadvantages in test marketing in Indian
context? .

What are the general objectives of pricing for an organization?
What is advertising? What role does it play? ‘
Explain the role of Internet as a promotion mix element.

Discuss the stages of buying decision process %

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
®
(2)
(h)

Holistic Marketing -
Marketing plan
Legal Environment
Segmentation
Demographic factors
P(-)»si'tioning
Speciality pxoducfs
Brand

2 H 1855
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B.Com. B.L. (Hons.)/B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2013 to 2017)
Third Year — Fifth Semester
FINANCIAL MANAGEMENT = -

Time : 21 hours @’Iaximum : 70 marks
‘ PARTA —(2x12= 24 marks)
Answer TWO of the following in about 5001W0’rds each.
1. State the essentials of an approbriate capital structure.
2. Details regarding three companies are given below:
A Ltd. B Ltd. C Ltd.
r=18% r=20% r=8%
K=15% K=20% K=10%
E=Rs.30 E=Rs. 40 E=Rs. 20
By using Walter's model, you are required to

(a) Calculate'the value of an equity share of each of these companies
when dividend payout is (1) 30% (ii) 60% (iii) 100%

(b) Comment on the results drawn.

3. The following information has been extracted from the records of a
company ,
(Rs. per unit)

Raw materials : 45
Direct labour 20
Over heads 40
Total cost 105
Profit 15
Selling price _E—_O_

[P.T.O]
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(a) Raw materials are in stock on an average for two months

() The materials are in process on an average for 4 weeks. The degree
of completion is 50% .

(c) Finished goods stock on average is for one month.

(d) Time lag in payment of wages and over heads is 172 weeks.
(¢) Time lag in receipt of pr})ceeds from debtors is 2 months

() Credit allowed by suppliers is one month

(g) 20% of the out put is sold against cash

(h) The company expects to keep a cash balance of Rs, 1,00,000
(1) Take 52 weeks per annum ‘w"::‘

The company 18 poised for a manufacture of 1,44,000 units in the
year. Prepare a statement of working capital requirements.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

A firm issues debentures of Rs. 1,00,000 and realises Rs. 98,000 after

allowing 2% commission to brokers. Debentures carry interest rate of-

10%. The debentures are due for maturity at the end of 10t year at par.
Calculate cost of debt. -

State briefly the significance of financial management.

Dewey Ltd. has an EBIT of Rs. 4,50,000. The cost of debt is 10% and the
outstanding debt is Rs. 12,00,000. The overall capitalisation rate (Ko) 18
15%. Calculate the total value of the firm and equity capitalisation rate
under NOI approach.

PART C — (5 x 4 = 20 marks) ’

Write short notes on FIVE of the following:

(a) The following data relates to Hampson Co. Ltd. Equity share
capital 2,560,000 shares of Rs. 10: Rs. 25,00,000

Profit after tax : Rs. 22,50,000
Current market price of equity share 120.
(1) Calculate the cost of equity capital

(ii) What is the cost of retained earnings if the average personal
tax rate of shareholders.is 40% and the brokerage cost for new

investments is 2%
(b) State the significance of cost of capital.

(c) Describe the significance of working capital in a firm.

2 H 1856
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(e)
()
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State the factors that influence the dividend policy of a firm.
Outline the methods and tools of Financial management.

The capital structure and after tax cost of different sources of funds
are given below:

Sources of funds Amount Proportion After tax

' to total Cost %

Equity share capital 7,20,000 .30 15
Retained earnings *6,00,000 .25 14
Preference share capital 4,80,000 .20 10
Debenturcs 6,00,000 .25 8

You are required to compute the weighted average cost of capital.

A firm sclls its only product at Rs. 12 per umt Its variable cost is
Rs. 8 per unit. Present sales are 1000 its. Calculate the
operating leverage in each of the following sifaations.

I. When fixed cost is Rs. 1,000
11. When fixed cost is Rs. 1,200

.III. When fixed cost is Rs 1,500.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)

(b)
©

From the following information relating to GRV Ltd,, calculate

operating cycle and number of operating cycles in a year,

assuming 360 day year.

Stock holding :

Raw materials : 2 months
W.1.P. : 15 days
Finished goods : 1 month
Average debt collection : 2 months
period

Average payment period  : 45 days.

Fixed working capital

From the data given below rclating to Jayant Ltd. ‘determine the
market price per share under Gordon's model.

EPS =Rs. 8

Retention ratio (b) = 25%
Capitalisation rate (k) = 10%
Rate of return (r) = 156%

3 H 1856
[P.T.O.]



(d)
(e)
®
(8)
(h)

1%

Dividend
Wealth maximization
Capital structure ‘

Weighted average cost of capital

Ascertain financial leverage from the information given below:

Net worth : Rs. 20,00,000
Debt/equity ratio: 3: 1

Interest rate = 10%

Operating profit = Rs. 18,00,000.

T

,.
o

H 1856
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B.Com. B.L. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2019.
(For the candidates admitted during 2013 and 2014)
Third Year - Fifth Semester
COMPANY LAW

Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. “The adherence to the Solomon principle will not be doggedly followed where
it would cause an unjust result. There are circumstances which compel the
Courts to identify a company with its members” ~ Discuss.

2. “The Memorandum and Articles constitute a contract between the company
and its members” — Discuss.

3. “The modern directors are something more than mere agents or trustees” -
Explain with the help of decided cases.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the different kinds of share capital and the procedure for reduction
of share capital.

5. Examine the procedure for payment of dividend under the Company’s Act
2013.

6. “Floating charge is a charge of ambulatory nature, floating with the property
it is intended to cover” — Discuss. :

PART C - (5 x 4 = 20 marKks)
7. Write short notes on FIVE of the following:
(a) Foss v. Harbottle.
(b) Foreign Company.
(c) National Company Law Tribunal.

(d) Preference shares.
(P.T.0.)



(e) Woman director.
() Shelf Prospectus.

(g) Certificate of incorporation.

PART D — (2 x 6 = 12 marks)

Answer TWO of the following by referring to relevant provisions of law and

decided cases. Give cogent reasons.

8. - A clause in the articles of a company authoris ‘}the directors to fill

10.

casual vacancies and also to increase the number&f directors within the
maximum number fixed in the articles. Some vacancies occurred but
they were filled at a general meeting of the shareholders. This was
challenged on the ground that once the power to appoint was delegated
to the Board it cannot be exercised at a general meeting. Decide.

The articles of association of a company contained a clause to the effect
that ‘B’ should be a director and should not be removable till 2018
December. He was however removed earlier and he brought an action to
restrain the company from excluding him. Decide.

A company was incorporated in 2010 under the name, “Sundar Wheel
Manufacturers and Traders Ltd.”. In 2017 another company was
incorporated under the name, “Sundari Wheel Manufacturers and
Traders Ltd.”. The first company brought an action to restrain the use of
this name. Decide.
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B.Com: B.L. (Hons.)/B.Com. LL.B; (Hons.) DEGREE (Semester)
EXAMINATIONS, NOVEMBER 2019.

. (For the candidates admitted froﬁ} 2013 to 20“17)..
Third Year — Sixth Semester/ Seccﬁd Y,eér‘ - FoJf?éem'ester
C:(").ST AND MANAGEMENT AC COUNTING
Time. : 21 hours | : | Maximum : 70 marks
PART A — (2 X 12 = 24 marks) :
Answer TWO of the following 1n about 500 words each.

1. From the following information, prepare a Cost sheet for the month of
January. ' '

Rs.
Stock of raw materials on 1stJanuary 25,000

Stock of raw materials on 315t January 26,200

Purchase of raw materials 21,900
Carriage on Purchgses " 1,100
Sale of'finished goods 72,3(30
Direct wages - 17,200
Non.-pi'.oductiv-e wages : - 800
Di,re'ctv expenses R | 1,200
Factory ovérhead;s 8,300
Administrative overheads 3,200
Selling overheads 4,200

[P.T.O.]
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ey 2,_;,. The following information is prov1ded by Coorg Coffee manufacturlng

" unit-for.the fortmght of Aprﬂ 1996 y )
ik b

Materials'A , ‘rf‘ / : .
"~ Stock on : 1-4-96 100 units at Rs.5 per unit

Purchases : 5-4-96 300 units at Rs.6 per unit
-8—4-96 500 units at Rs.7 per unit
12—4—96 600 units at Rs.8 per unit
Issues 6—4—96 250 units ' Co
10-4-96 400 um&:s' | k’
14-4-96 500 units

-

Calculate the value of materials consumed durmg the period under
LIFO method.

3. Briefly de‘spri_be the various methods of labour remuneration and also
describe any two incentive plans.

PART B — (2 x 7 = 14 marks)
" Answer TWO of the fqlldvvir"lg in'abogt 300 wozxds each.
4., From the following information, calculate:
‘() Maximum stock level
() Minimum stock level
(é) Reorder level

'(d) ~Average stock level

Minimum conSumptiqn , _— 240 units per day
Maximum consumption ' ey 420 units per day p
Normal cohsuinption —‘ 300 units per day
Re—order quantity _ _ — 3,600 units
Re—order p_eri;)d - - .10—1'5 days

Normal re—order period - — . 12 days

2 H 1858
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‘From the - following particulars, calculate the earnings of different

' ".wo‘rkei's tlnder Taylor S dlfferentlul piece rate system,

Standard time perunit . ' ~— _6minutes

Normal rate = Rs. 5 per hour

Differential piece rates:
80% of piece rate below the standard
120% of piece rate at or above the standard
In a day of 8 hours the production by different workers is as under:
Amar : 70 units; Badekhan : 80 uﬁits; Chaplin: 90 units;
Dharmsingh : 100 units. :

Compute the overheads allocation to production A rtments X and Y
from the following:

There are two service departments S: and Sz S; renders service to X
and Y in the ratio of 5:3 and Sz renders service to X and Y in the ratio of
3:1. Overheads as per primary distribution are:
X : Rs. 58,800 ; Y:: Rs. 39,400; S1 : Rs. 82,800; Sz : Rs 12,400

PART C — (5 x 4 =20 marks)

Write short notes on FIVE of the following :
(a) You are given the following data for the year 1978 of X company
) Rs. | | :
Variable Cost 6,00,000 (60%)
Fixed Cost 3,00,000 (30%)
Net profit 1,00,000 - (10%) :
Find out (i) the P/V Ratio (ii) the B.E.P. (111) the Margin of safety ratio.
(b) What are the advantages of Break even charts?
(¢) Calculate direct labour hour rate from the following: -

- Total no. of workers - . 250
Working days in a year -= 300
No. of hours per day worked — 8
Short and idle time - 5%
Factory overheads - Rs. 45,600.

() Mr. Ramesh works in a factory w‘heré the following particuiar_s apply:
. Normal rate per hour : Rs 3.00
Normal piece rate 20% more of time- rate.

'Expected output is 40 units per hour. Ramesh produces 314 units in & 8
hour day. Calculate his wages for'the day on

@ Time basis and

(i) Piece basis

3 - H 1858
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Answer SIX of the followmg very briefly :

- (a)
(b)
(e)
(d)

o) "

0
(g)

(b)

119

What is meant by Labour turnover? What are the causes for it?
What are the advantages of materlal control?
A factory: prod'uces 100 umts of a commod1ty The cost of productlon is:

v

el Rs. .
Direct materials 10,000
Direct wages. 5,000
Direct expenses 1,000
Factory overheads. 6,500

Administrative overheads 3,480

- If profit of 25% on sales is to be realised, what would be the selling price

of each unit of the commodity? Prepare the cost sheet. -

»
!

PART D — (6 x 2= 12 marks)'f_f )

List out the types of costing?

What is a bin card?

What is inventory control?

Calculate labour turnover rate from the followmg particulars:
No. of workers 8000 in the begmmng ; 10,000 at the end '
No. of separations 1,500 .

No. of’replacements 1,200

Calculate the total earnings of a worker under Halsey plan.
Standard time — 15 hours; Time taken — 12 hours.

Hourly rate of wages is Rs.2, plus a dearness allowance at 50 paise
per hour worked.

What is meant by under absorption of overheads‘?
Calculate P/V Ratio s

'Variable cost ~ 3,00,000
Fixed cost 1,50,000
Net profit . 50,000
Sales . 5,00,000

The profit - Volume ratio of X Ltd. is 50% and the Margin of safety
is 40%. You are required to calculate the net profit if the sales
volume is Rs 1,00,000.

4 ' H 1858
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s - .
B.Com. B.L. (Hons.)/B.Com. LL.B. (Hons.) DEGREE (SEMESTER)
EXAMINATIONS,.NOVEMBER 2019,

(For the candidates admitted ffom 2013 to 2017)
‘Third Year — Fifth Semester/Sixth Semester
| PRACTICAL AUDITING
Time : 24 hours | sximum : 70 marks
PARTA — (2x 12 = 24 marks)
Answer TWO of the following in about 500 v-vords each,

1. “Auditing begins where accounting ends” -~ Explain. How .does
Accounting differ from auditing?

2. What is a Secret Reserve? Explain its purpose and the auditor’s duties
in this regard. ' :

3. Explain in detail the liabilities of an Auditor under the Companies Act,
1956, - - ' '

PARTB —2x7=14 ,mai'ks)
Answer TWO of the following in about 300 wor&s each.
4. Describe the impact of Computerization on Auditing.
5. What is Continuous Audit? Discuss its ﬁaerits and demerits.
6. Explain the vouching procedure for verifying Cash puljchases.
PART C — (5 x 4 = 20 marks)
7.  Write short notes on FIVE of the following :

(a) Mention the various Audit Techniques.

(b) Explain the concept of Auditor's opinion with respect to Financial
Statements.

() What are the objectives of vouching?

(P.T.O.]



w(d).

3 1
/]

(e)

®
(8)

P

| Explam the elements of Audit report. .

Briefly explam the prov1smns of the Compames Act relating to
appointment of First Auditog. ~~ .

Distinguish between “Reserves” and “Provisions”.

Describe the procedure involved in verification of Goodwill.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

" (a)
(b)
(©)
(d)
(e)
()
3]
(h)

Internal Control

Auditing around the computer

V.
£5

Proprietary Audit

Wasting Assets

Verification of Assets

Audit Evidence

Verification of ‘Tax liability of an entity’

Capital Expenditure

2 H 1908
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HA7B/HBDA/HB7B/HC7B/HD7B

B.A.LL.B. (Hons.)/B.Com.B.L. (Hons.)/B.Com. LL.B (Hons.)/B.B.A. LL.B.
(Hons.)/B.C.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2013 to 2015)

Fourth Year — Seventh Semester - '

As,
ik

LAND LAWS ¥

v

Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

. Discuss scope, object and salient features of the Tamil Nadu Occupants of
Kudiyirupppu (Conferment of Ownership) Act, 1971.

. Explain the provisions of Tamil Nadu Land Reforms (Fixation of Ceiling on
land) Act, 1961 regarding acquisition of surplus land required for a public
purpose along with exemptions to hold land beyond ceiling limits.

. Describe the procedure in fixing fair rent under the provisions of the Tamil
Nadu Building (Lease and Rent Control) Act, 1960.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. State the protection given to a Cultivating Tenant under the Tamil Nadu
Cultivating Tenants Protection Act, 1955.

. Explain the salient features of the Tamil Nadu Agricultural Land Record of
Tenancy Rights Act, 1969.

. What are the matters to be considered in determination of compensation
under the Right to Fair Compensation and Transparency in Land
Acquisition, Rehabilitation and Resettlement Act, 2013?

PART C — (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Advisory commitee
(b) Permanent Settlement

(c) Melwaram and Kudiwaram
(P.T.O)
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(d) Ceiling Area
(e) Personal occupation
(f) Public purpose

(g) Mirasi Tenure

PART D - (2 x 6 = 12 marks)
Answer TWO of the following by referring to relevant provisions of law and
decided cases. Give cogent reasons.

oy
8. ‘A’ was a cultivating tenant at a village near Kumbzﬁéf'lonam. His daughter
‘B’ studied medicine and came back to her father’s‘place and set up her
practice there. On the death of her father A’s daughter ‘B’ was evicted by the
Landlord ‘L’. ‘B’ claims protection under the Tamil Nadu Cultivating Tenants
Protection Act. Can she succeed?

9. A Christian family consists of husband, his wife, two unmarried daughters
and one minor son. The wife has 25 standard acres of Stridhana Land. The
husband has 12 standard acres of land. What is the ceiling on land? Is
there any surplus land?

10. Ramu let out his vacant site for running an automobile shop, to Kamal,
with wooden poles in the middle to support asbestos roof open on all sides.
Is the premises a building?
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CHC1B/HD1B/CHD1B

B.Com. LL.B.(Hons.)/B.B.A. LL.B. (Hons.)/ B.C.A. LL.B. (Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2019.

(For the candidates admitted from 2015 to 2019)

First Year — First Semester

GENERAL PRINCIPLES OF ECONONMICS

Time : 21 hours ‘ Maximum : 70 marks

PART A — (2 X 12 = 24 marks) .

Answer TWO of the following in about 500 words each.

Define Demand. Derive Demand curve using indifference curve
technique.

Explain price rigidity with help of Paul Sweezy Model.

What .is. industrial dispute? State and explain Dispute Settlement
Mechanism in India.

PART B — (2 x 7 = 14 marks)
Answer TWO‘of the following in about 300 words each.
Describe the characteristics of a good Tax System.
Evaluate Ricardian Theory of Rent.
Explain the factors attributing to the HDI in INdia.
PART C — (5 x 4 = 20 marks)
Write short notes on FIVE of the following :
(a) Features of New Economic Policy.
(b) Trade cycle.
() Redemption of Public debt.
(d) Agricultural Marketing.
() Consumer surplus.
() Cross elasticity of demand.
(8) Objectives of Monetary Policy.

[P.T.O.]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(c)
(d)
(e)
®
(2
(b)

Law of equi-marginal utﬂity.
Law of variable proportion.
Markup pricing. '
MRTS.

Deficit Financing.

»

Micro Finance.
Population Explosion.

Real wage.

Wi
4 =

(L 2

H 1909
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H 1859 : HB1C/CHBIC

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
' NOVEMBER 2019.

(For the candidates admitted from 2015 to 2019)
Firs.t Year — First Semester

PRINCIPLES OF MANAGEMENT AND HUMAN RESOURCE
'MANAGEMENT !,:

. V". . .
Time : 24 hours Maximum : 70 marks

5.

- PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

Explain the nature of Planning and the steps involved in planning
process.

Discuss the types and techniques for excellent co—ordination.

Critically evaluate the role and performance of Information and
Communication Technology in management process.

PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
Brieﬂy explain the steps involved in Human resource selection.
Discuss the steps involved in control process.

Explain the importance of Labour Relations.

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Types of Business Organization

(b) Formal and informal organization

(¢) Objectives of HR Audit.

(d) Methods and importance of Trai‘ning.

(P.T.0.]



(e)

’ (ﬁ Functions of Trade Unjon |

[eng

Components of Remuneration

T

’ (g) Inaustrlal dlsputes an‘d settleg;ent

e"’

PART D —~(Bx2= 19 marks)

Answer SIX of the following very briefly :

(2)
(b)
(c)
(d)
(e)
®

8 .

(b)

Forecasting

Promotion

Induction

Controlling

Career Development
Staffing

Performance appraisal

Incentives

.

)
9 H 1859
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B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2018)
First Year - Second Semester
PRINCIPLES OF ACCOUNTING

Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

o\ "
Lioe

1. Distinguish between Amalgamation in the nat\ﬁi‘e of merger and
Amalgamation in the nature of purchase.

2. The Balance Sheet of Baichung, Tausif and Vijayan who shared profits
and Losses in the ratio 3:3:2 respectively was as follows on 31st
December 2017.

Liabilities Rs. Assets Rs.
Baichung 24,000 Machinery 31,600
Tausif 10,000 Furniture 6,400
Vijayan 8,000 42,000 Stock 8,500
Reserve 4,800 Debtors 4,300
Creditors 8,700 Cash at Bank 4,700

55,500 55,500

Baichung retired from the business on 1st January, 2018. Revaluation of
assets were made as : Machinery — Rs 34,00; Furniture — Rs. 5,000;
Stock ~ Rs. 9.000; Debtors — Rs. 4,000 and Goodwill — Rs. 10,000.
Baichung was paid Rs. 4,225 immediately and the balance was
transferred to a Loan Account for payment in 4 equal half-yearly
instalments together with interest @ 6%.

Show the necessary accounts, the Balance Sheet of the firm immediately
after Baichungs retirement and his loan account till finally paid off.

3. The following balances are extracted from the books of Nikhil & Co. on
31st March, 2018. You are required to make the necessary closing entries
and to prepare the Trading and Profit and Loss Account and a Balance
Sheet on that Date: )



Rs.

Opening stock 500 Commission (Cr.)
Bills receivable 2,250 Return outwards
Purchases 19,500 Trade expenses
Wages 1,400 Office fixtures
Insurance 550 Cash in hand
Sundry debtors 15,000 Cash in Bank
Carriage inwards 400 Rent and Taxes
Commission (Dr.) 400 Carriage outwards
Interest on capital 350 Sales
Stationery 225 Bills payable
Return inwards 650 Creditors
Capital
The closing stock was valued at Rs. 12,500. WA

£

PART B - (2 x 7 = 14 marks)

Rs.
200
250
100
500
250

2,375
550
725

25,000

1,500

9,825

8,950

Answer TWO of the following in about 300 words each

. Distinguish between hire purchase system and instalment system.

. From the following information, interpret the results of operations of a
manufacturing concern using trend percentages with 2007 as base year.

Particulars
Sales (Net)

Less : Cost of Goods sold

Gross profit

Less : Operating expenses

Net operating profit

For the year ended

2007 2008 2009 2010
2,00,000  1,90,000 2,40,000 2,60,000
1,20,000 1,17,800 1,39,200 1,45,600

80,000 72,200 1,00,800 1,14,400

20,000 19,400 22,000 24,000

60,000 52,800 78,800 90,400

. Ganesh Ltd., was registered on 1.7.2008 to acquire the running business
of Suneel & Co., with effect from 1.1.2008. The following was the profit
and loss account of the company on 31.12.2008.



] 2o

Particulars Rs. Particulars Rs.
To Office expenses 54,000 By Gross profit B/d  2,25,000
To Formation expenses . 10,000 ‘
(written off)
To Stationery and Post age 5,000
To Selling expenses 60,000
To Director’s fees 20,000
To Net Profit 76,000
2,25,000 2,25,000

You are required to prepare a statement showing;profit earned by the
company in the pre and post incorporation periods. The total sales for the
year took place in the ratio 1:2 before and after incorporation
respectively.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:

(a) From the following advances made by Lucky Bank Ltd., you are
required to compute the amount of provision to be shown in P & L
A/C:

Standard assets; 8,000 Lakhs, Substandard assets; 650 Lakhs;
Doubtful assets (more than 3 year); 100 Lakhs; Loss Assets; 250
Lakhs

(b) The liquidator of a company is entitled to remuneration of 2% on
assets realized and 3% on the amount distributed to unsecured
creditors. The assets realized Rs. 1,00,000, including cash balance of
Rs. 5,000. Amount available for distribution to unsecured creditors
before paying liquidators remuneration was Rs. 43,100.

(c) What is the difference between “Net Assets” and “Intrinsic Value”?

(d) On 1.1.2010, X purchased Machinery on hire purchase system. The
payment is to be made Rs. 4,000 down (on singing of the contract)
and Rs. 4,000 annually for three years. The cash price of the
machinery is Rs. 14,900 and the rate interest is 5%. Calculate the
interest in each year’s instalment.

(e) What is “Revaluation Account”? How is it prepared and closed?

(f) Calculate the debtors turnover ratio from the following figures:



Rs.
*Cash sales ' 2 OO 000
Total sales g 10,00,000 .
Bill receivable on 1.1.2005 75,000
Bills receivable on 31.12.2005 1,25,000
Debtors on 1.1.2005 1,00,000
Debtors on 31.12.2005 1,50,000

(g) Which transactions cause increase of working capital? '

ol
1 J
“

PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) What are financial statement?

(b) Opening stock = Rs. 29,000; Closing stock = Rs. 31,000; Sales = Rs.
3,00,000; Gross Profit = 25% on cost. Calculate stock turnover ratio.

(c) What is meant by joint Venture Account?

(d) A,B and C are partners sharing in the ratio of 4:3:2. A dies on
31.5.2010. The sales and profit during 2009 were Rs. 2,40,000 and
Rs. 30,000 respectively. The sales upto 31.5.2010 amounted to Rs.
1,44,000. Calculate A’s share of profit.

(¢) Goods of Rs. 80,000 of M/s. Raju & Son are insured for Rs. 70,000
subject to average clause. Loss due to fire is assessed at Rs. 16,000.
Calculate what claim the insured will get from the insurers.

() What is meant by Amalgamation?
(g) What are the kinds of shares in a company?

(h) In order to provide funds for capital reduction scheme, a
debenture holder of Rs. 4,00,000 has agreed to take over stock worth
Rs. 1,00,000 and book debts of Rs. 80,000 in full satisfaction of the
amount due to him. Pass journal entry to record the above
transaction.
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B.Com. LL.B. (Hons.)/B.B.A. LL.B. (Hons.)/B.C.A. LL.B. (Hons.) DEGREE
(SEMESTER) EXAMINATIONS, NOVEMBER 2019.
(For the candidates admitted from 2015 to 2018)
First Year — Second Semester
SOCIOLOGY

Time: 2% hours &Maximum: 70 marks
PART A — (2 x 12 = 24 marks) &
Answer TWO of the following in about 500 words each.

1. Enumerate the factors responsible for changing caste system in
contemporary India.

2. Discuss the causes for the disintegration of the joint family system in
India.

3. Describe the status of Indian women during the British rule.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain Racial theory and its significance for the origin of caste system.
5. Analyse the functions and importance of marriage.

6. What are the nature of diversities prevailing in Indian society. Explain
with examples.
PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Non-governmental Organisation.
(b) Factors facilitating Deviance.
(c) Need for National Integration.
(d) Formalistic School.
(e) Characteristics of Social Stratification.
(f) Formal agencies of social control.

(g) Sociology as a mother of social sciences.
(P.T.O)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) Herbert Spencer.

(b) Social Processes. A

(c) Kinship.

(d) Ascribed status.

(e) Categorical contact.

(f) Non-Sororal polygyny.

(g) Exogamy.

(h) Educational unity.

< w
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HB3A/CHB3A/HC3A/
CHC3A/HD3A/CHD3A

B.Com. LL.B. (Hons.)/ B.B.A. LL.B.(Hons.)/B.C.A. LL.B.(Hons.)
DEGREE (SEMESTER) EXAMINATIONS, NOVEMBER 2019.

Time : 2%

(For the candidates admitted from 2015 to 2018)
Second Year — Third Semester
-POLITICAL SCIENCE

. . 18 '? :
hours Maximum : 70 marks
PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Define Government and discuss about welfare state:

2. Examine the essential features of C.F.Strong’s classification of Modern
Governments. '

3. Write an essay about Balance of Power.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Discuss Locke’s Social contract theory.

S'.r"l

Examine Austin’s theory of sovereignty.

6. Examine the causes for World War 1.

- PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a)
(b)
©
(d)
(e)
®

(8)

John Rawl’s theory of Justice
Matriarchal theory '
Behaviouralist approach

Duties

Plato’s classification of Governments
Cold war

Fusion of powers

[P.T.O.]
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PART D — (6 x 2 = 12 puarks)

Answer SIX of the following very briefly.

(a)

(b)

()
(d)
(e)
®
(®)
LY

Political Science and Ethics
Roix_és?é_%u P el »
Legal Sovereignty

Liberty - '
Démerité df Democracy
Multi-polar world:

Human Rights

General assembly of U.N.

H 1862
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H 1863 ' | | HB3B

B.Com.LL.B.(Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2015)
Second Year — Third Semester
e : ,
'FINANCIAL MARKET AND INDIAN ECONBMIC ISSUES
Time : 2% hours : Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.
1. What are the Financial Institutions in India? And explain the
- com"';;o:nents. of Finaneial Institutions.:
2. Describe the featureé of venture ,capit;al and what are the methods of
financing by venture dapitai institutions.

3. . Enumerate the different methods and difficulties of calculating Natiohal

Income in India.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.

4, What are the functions of Merchant Bankers?

5. [Explain the issues and challenges of Agricultural credit systems in
India.

6. Describe the classification of Mutual Funds.

[P.T.O.]



PART C — (5 x 4 = 20 marks)
“’Wﬂ’tﬁ,ﬁﬁar&notes on FIVE of the following :

(a). Relationghip between Financial system and economic development.

(b) 'D‘ifferehée between forward cvcl)r_ltra‘cf'a;;d future contract.

(© Regulation of SEBI on Mutual Funds.

(d) Financial rate of return and financial yield.

(e) ‘Poverty eradication program/mes in Ir;diaﬁ

® Labour legislations in India. iy | e

) Ki_n':ds of uneﬁaplbynient‘.‘ : | S »v
- PARTD — (6x2=12 s

Answer SIX of the following o briefly.

@ Lesse

(6) Factoring -

() | ‘Money lanﬁ‘n'deripg’ _

@ HDI |

“(e) - :‘Exc\_hange rate

(O NITI

(g’ Land Reforms .

@ SDR

2 H 1863
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'H 1864 . CHB3B

B.Com. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2016, 2017 and 2018)

Second Year — Third Semester
FINANCIAL MARKET AND MARKETING MANAGEMENT

au

Time : 21 hours %;';Maximum : 70 marks
v

PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each.

1. Explain the problems faced by the Indian financial service sector. What
are the reforms that are implemented to overcome these problems?

2.  Discuss the concept, origin and growth of Merchant Banking.
3. Explain the process of New Product Development.
, . PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
4. Explain the concept and objectives of Mutual Funds. .
Explain the concept of Marketing Mix.
6. Briefly explain the concept of Product Life Cycle.
PART C — (5 x 4 = 20 marks)
7.  Write short notes.on FIVE of the following:
(a) Capital Market
(b) Underwriting
(¢ Credit Rating A_gehcies
(d) Foreign Exchange Market
(e) Industrial goods
( Sales promotion

(8) Advantages of Direct selling

[P.T.O.]



(&9

PART D — (6 x 2 = 12 marks)
Answer SIX of the following very briefly.
(a) Money market
(b) Lease
(c) Debt Securitization
(d) Future contract
(e) Positioning

() Product

o

(g) Publicity

(h) Market segmentation

2 H 1864
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H 1912 LHCICICHClC'

B.B.A. L.L.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019. :

(For the candidates admitted from 2015 to 2019)
First Year — First Semester

BUSINESS MANAGEMENT AND ETHIGCS

Time : 24 hours # Maximum : 70 marks

5.

PART A — (2 % 12 = 24 marks)
Answer TWO of the following in about 500 words each.”

“Planning is an intellectual process, the conscious determination of
courses of action, the basing of decisionson ppurpose, facts and
considered estimates”. Discuss this statement. What are the steps
involved in planning process?

Explain the different kinds of Business Ethics.

Bring out the factors affecting centralization / decentralization. Also
highlight the merits and demerits of centralization and decentralization
with examples.

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words each.
Discuss the tasks and responsibilities of a Professional manager.

What is delegation of aﬁfh’o‘ri’ty? Explain_briefly the principles of
delegation. ‘ ' '

List out and expalin any five measures undertaken at institutional level
to ensures ethical standards.

H 1912
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PART C — (5 x 4 = 20 marks)

* ‘Write ;sh'ort ndtes on FIVE éf the following :

(a)
(b)
(©
(d)
(e)
®
()

e o =
How do management principles help management?

What are the limitations of MBO?

What are the levels of management? Explain.
Explain the steps in Contr61 process.

Explain the characteristics of a sound plan.

What are informal organizations? List out its features.

business. - .

PART D — (6x 2 = 12 marks)

Answer SIX of the following very briefly : |

(a)
(b)
(c)
(d)
(e)
®
(8)

(h)

Span of Control.
Division of work.
Types of plans. .

Decision making process.

'Crganizational design.

. .Trait theory of leadership.

Ethics Committee.

CSR.

‘List out any three situations with respect tgyethical dilemmas in

H 1912
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HC2B/CHC2B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2018)
First Year — Second Semester

HUMAN RESOURCE MANAGEMENT AND ORGANISATIONAL
BEHAVIOUR -
Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) §.°
Answer TWO of the following in about 500 words each.

—

. Explain the objectives and importance of Human Resource Management.
2. Explain any two theories of motivation in detail with examples.
3. Describe in detail about various performance appraisal methods.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. List out the qualities of a Good Personnel Manager.
5. Differentiate job description from job specification.

6. What are the differences between “On the job” and “Off the job” training

methods?

PART C - (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Types of organisational culture

(b) List out various Non-Financial incentives

(c) Types of interview

(d) Job analysis

(e) Need of HRM

(f) Factors influencing perception

(g) Job evaluation

(P.T.0.)
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PART D - (6 x 2 = 12 marks)

8. Answer SIX of the following very briefly:

(a) HRM

(b) Motivation

(c) OB

(d) Perquisites

(e) MBO

(f) Induction

(g) Recruitment

(h) Cost of living index.
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Register No. \

HC3B/CHC3B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,

NOVEMBER 2019.

(For the candidates .admltted from 2015 to 2018)

Second Year — Third Semester

FINANCIAL AND MANAGEMENT ACCOUNTING

Time ; 2% hours

PART A — (2 X 12 = 24 marks)

é\gaxirhum : 70 marks

Answer TWO of the following in about 500 words each.

1. Explain various accounting concepts.

2. From the fol]owmg balances, prepare Trading, Profit / loss A/c and

Balance sheet

Capital

"~ Drawings

General expenses

Buildings
Machinery
Stock

. Power
Taxes
Wages.
Debtors
Bank O/D
Charity

Rs.
50,000 Creditors
" 4,000 Bad debts
5,000 Loan
22,000 Sales
18,680 Purchases
32,400 Motor car

4,480 Reserve fund

2,630 Commission

14,400 Car expenses

12,5_60. Bills payable
6,600 Cash
210

Rs.

5,000

1,100
15,760

©1,30,720

94,000
4,000
1,800
2,640

13,600
6,700

160

Stock on 318t March 1994 was valued at Rs. 47,000.

[P.T.0.]
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Drewings‘
Capital
Creditors

Bills payable
Debtors

Bills receivable
Loan from Karthik
Furniture
Opening.stock
Cash in hand v
Rent
Purchases
Cash at bank

Tax

Sales

Salaries

Sales returns
Purchase return
Travelling expenses
Com‘mi’és‘iexi paid
Trading expenses
Discount earned

Bank O/D

Rs.

6,000
24,000
43,000

.2,000.
70,800
12,600
3,500

1,28,000
9,600
1,000

.1,100

4,600

100

2,500

4,000

6,000

The fqllowmg balances were ext;racted from the ledger of RamakrNhnan
- Brgineering WOrks on 3]}'t Mal:ch 1997. You fare required to prepare a
Trial balance as on that date m.-prr()per form.

H 1866
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PART B — (2 x 7 = 14 marks)
Answer TWO ofjhe follong n about. 300 wordq each.

4, Explam the 1mportance of capgta],budgetmg dec1sxons R

5. From the following 1nformat1on,‘ prepare profit/loss account.

Rs.

Gross profit « 55,000
Carriage on sales 500
Office rent 500 -

. General expenses 900
Discount allowed 360 p
Interest received . 2{)9.5
Travelling expenses "
Salaries ' 900
Commission 300
Repairs : 500
Telephone expenses 520
Interest (Dr.) . 480

" Fire insurance premium .900
Bad debts ‘ 2,100

Apprentice premium (Cr.) 1,500
Printing and stationery 2,500
Trade expenses 300

6. Ramco Cements presents the following information - and you are
required to calculate funds from operations.

Profit/loss account.

Rs. Rs.
To Opleratving expenses 1,00,000 By Gross profit 2,00,000
To Depreciation 40,000 By Profit on sales of plant 20,000
To Loss on sale of buildings 10,000
To Advertisement -5,000
.To Discount " , 500
To Discount on issue
.of shares = 500
To Goodwill written - 12,000
To Net profit : - 52,000
2,20,000 - 2,20,000

3. H 1866



|47

PART C — (6 x 4 = 20 marks)

Wiite short notes on FIVE of the following,

(a)

(b)

(©

(d)
()
®

(8)

L

A Ltd is planning to pﬁrqhase a machine f;)r Rs. 25,000 and the life
of the machine is 10 years. The expected annual cash inflow of the
machine is Rs. 10,000. Compute using payback period method.

Calculate net present value of a project which requires an initial
investment of Rs. 2,43,000 and is expected to generate a cash
inflow of Rs. 50,000 each month for 12 months.

The target rate of return is 12% per annum.

X Ltd. agreed to purchase business of a sole trader. For that
purpose, goodwill is to be valued at 3 year?s’,‘puréhase of average
profits of last 5 years. e |

Year Profit

Wl
'y’

I 24,000
II 20,000
Il 22,000
IV 26,000
V 24,000

Calculate goodwill on the basis of 3 years purchase.
Differentiate fund flow statement from cash flow statement.
Explain the types of accounts and its rules.

Calculate debt-equity ratio :
External liabilities : 6,00,000
Internal liabilities : 16,00,000

What are the importance of financial statements?

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)

(© .

(d)
(e)
®
(8)
(h)

Financial statement.
Ratio analysis.

IRR.

NPV.

Goodwill.

Partnership deed.
Sacrificing Ratio.

Double entry accounting.

4 H 1866 .
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H 1907 | HC4A/CHC4A

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2017)

Second Year — Fourth Semester

COMPUTER FOR MANAGEMENT AND MA GEMENT
INFORMATION SYSTEMS (MIS

Time : 24 hours Maximum : 70 marks

" _PART A — (2 x 12 = 24 marks)
| Answer TWO of the following in about 500 words each.

1. Explain about macros and mail merging in MS- Word What are the
application of MS-Word.

2. What is IS Auditing? Explain the process.
3.  What is SDLC? Explain the process in detail.
PART B — (2 x 7= 14 marks)
., Answer TWO of the following in about. 30.0 words each.

4.  What are styles in Excel? Describe how to apply styles, create styles and
: modify styles in- Excel. -

5. What is DBMS? Explain its pharacteristics.
6. What is an'operating systems? Explain the types qf Operating Syétems.
PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
(a) Explain the following (i) Primary key fields (11) Indexing field.

(b) What is splitting windows in Excel? Describe two ways in which
you can split windows.

(c) State and explain the responsibilities of Database admlmstrator

[P.T.O.]
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i (e).
() Explain the épplicaéit;hs;bf internet in business. .

(2) What is FEDI? Explain i’csvé_v'i)bﬁ_cati;ons_iﬁ business. *

What are storage units? Explain its types.
Write a noteon HTML.

"PART D — (6 x 2 =12 marks)

Answer SIX of the following very briefly:

()
(b)
(©)
(d)
(e)
®
()
(h)

Freezing columns in Access.

Selecting and editing chart Components.
Physical data independence
Applications software.

Peripheral devices.

Renaming a work"sheet.

DNS. »

3D Printers..

H 1907
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Register No. -'hj ‘
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CHB4A/
HC4B/
CHC4B

B.Com. LL.B. (Hons.)/B.B.A. LL.B (Hons.) DEGREE (SEMESTER)

EXAMINATIONS, NOVEMBER 2019.

(For the candidates admifted from 2015 to 2017)

Second Year — Fourth Semester

MANAGERIAL ECONOMICS g’ |

PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.

Maximum : 70 marks

State the different  types of Demand forecasting in Business
Management. :

Discuss why profit maximisation is not the sole aim of a business firm
and explain Baumol sales maximisation model.

How are.price and output determined under monopolistic competitive
market in long—run?

Discuss Break—Even Point analysis with suitable diagram.

PARTB —(2x7=14 marks)

Answer TWO of the following in about 300 words each.

Explain the applications of different cost theories.

What are the measurement of Cobb-Doeuglas production function?

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following:

(a)
(b)
()

(d)-

(e)
®
(8)

Choice theory P

Different types of elasticity of demand |
Price discrimination under monopoly.
Features of perfect competitive market
Net present value

Describe the Decision Making Techniques.

Equi-marginalism

[P.T.O.]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
(b)
(©)
(d)
(e)
®

(g)
(h)

Opportunity cost

Marginalism

Returns to scale

Iso-quant

Envelope curve

Arc method

Conditions of firm’s equilibrium

TC=?

H 1867
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H 1868 - [HC5A/CHC5A

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2015, 2016 and 2017)
Third Year — Fifth Semester
STRATEGIC MANAGEMENT

Time : 21 hours §;,Maxi‘mum : 70 marks

=

PART A — (2 x 12 = 24 marks)"

Answer TWO of the following in about 500 words each.
Explain McKinsey’s 7-S framework in detail with examples.

Explain in detail about the Generic Building blocks of a firm to gain
competitive advantage.

Elaborately explain the Dupont’s Control model with some industry
examples.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words cach.
What are the qualities required for successful strategic managers?

What is SWOT analysis? What are the dimensions that strategic
managers must focus?

What are the factors to be considered before formulation of corporate,
business and functional level strategies?

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :

(a) Strategic decision making process

(b) Characteristics of Corporate policy

(c) Benefits of Value chain analysis

(d) Advantages and disadvantages of a first mover in industry

(e) Types of growth strategies '

(® Role of leadership in managing corporate culture

(g) Political and legal factors that affect an industry environment.

[P.T.O.]
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PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)

Retrenchment

Vertical integration
Decentralization strategy
Jorporate Governance
Strategic advantage

Joint venture

Conglomerate diversification

Cost leadership strategy.

-
{25

> ‘-’. .

H 1868



IS&

Register No, E_W 1__

[ [ 1]

H 18 6 9 . [ HC5B/CHC5B J

B.B.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates a(imitted from 2015 to 2017)
Third Year — Fifth Semester
FUNDAMENTALS OF MARKETING MANAGEM;ENT A
Time : 21 hours @ximum : 70 marks
PART A — (2 X 12 = 24 marks) LT

Answér TWO of the following in about 500 words each.

1. Explain the bases for Market Segmentation.

2.  What are the co;llponents, of Marketing Mix? Explain them.

3. Discuss in detail about various types of sales promotion.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words e.ach.,

4. Explain the functions of Marketing.

5. Briefly explain the stages of new product development.

6. Explain the factors that influence the‘choice of distribution chaniiels.
PART C — (5 x 4 = 20 marks)

7.  Write short notes on FIVE of the following :

(@) List out the reasons for new product failure.
(b)  Explain the kinds of pric{ﬁg of a product.
(¢ Differentiate advertisement from publicity.

(d) Mention é\’ny five importance of Marketing.

[P.T.O}
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(g)

(55

Explain the characteristics of produet.
Wiite a note on the concept of CRM.

Explain the characteristics of services.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly.

(a)
(b)
©
(d)
()
®
()
()

Marketing
Advertisement

Marketing Mix

Vo &

Marketing Research.
PLC stages - |
Product

Sales Promotion

Market scgmentation

H 1869
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HC6B/CHC6B

B.B.A. LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.
(For the candidates admitted during 2015 and 2016)

Third Year — Sixth Semester
PUBLIC FINANCE AND IT LAW

Time: 2% hours Maximum: 70 marks
PART A - (2 x 12 = 24 marks) b
Answer TWO of the following in about 500 Yﬂrds each.

1. Explain the three principles on equitable distribution of tax burden
(Fiscal neutrality).

2. What are the objectives of deficit financing? Explain its adverse effects.
3. List out and explain the main aspects of fiscal federalism in India.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Discuss tlie recommendations of the 13t Finance Commission.
5. What are the causes for increase in Public expenditure?
6. What are the different kinds of budget? Explain.

PART C — (5 x 4 = 20 marks)

7. Write short notes on FIVE of the following:

(a) Objectives of Public sector

(b) Features of Private goods

(c) Non-tax revenues

(d) Merits of direct taxes

(e} Classification of Public debt

(f) Functions of Planning Commission

(g) Fiscal Responsibility and Budget Management Act

(P.T.0.)
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PART D - (6 x 2 = 12 marks)
Answer SIX of the following very briefly:
(a) Public finance
(b) Neéd for public sector
(c) Public revenue e
(d) IProgfessive tax
(e) Musgrave’s concept of Incidence
(f) Adolph Wagner’s Hypothesis
(g) Basic principles of Federation
(h) Contingency Fund

o
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B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2019)
First Year — First Semester

COMPUTER FUNDAMENTALS AND OFFICE AUTOMATION

Time : 24 hours f Maximum : 70 marks

PART A — (2 x 12 = 24 marks)
_Answer TWO of the following in about 500 words each.

Define computers. Explain in detail about the limitations and
generations of computers.

What is combinational circuit? Explain combinational circuit design
with gates.

Elaborate on Database concepts. Write the stép's in designing, creating
and printing reports in MS—Access.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.
Explain. the basic laws of Boolean Algebra with truth table.
Describe the salient features of MS—Excel.

What is Macro in MS-Word? What are its features? How can we insert
Macros in a document?

PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
(a) Describe the complete process of Mail-Merge.
(b) Discuss the various output devices.

(¢) Convert the Hexa decimal number (3FC)14 into Decimal Number.

[P.T.0.]
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(@)

&)

(®

1S9

State and prove Demorgan’s Law.
Simplify using K-map. F(A,; B, C, I))_Z:(O_’ 1, 4, 5,.10,11, 14,15) -

. . . " . J.. 1 » 3 - . 3 N
Brief on the working principles of Full Adder with the circuit
diagram, '

List out the steps in creating forms in MS—ACCESS.

PART D —* (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

(a)
)

(©°

(d)
(e)
®
(&
(h)

1

Computer Languages
Define Counters. . | \
,_'What is meant by De — Multiplexer?
-D_éﬁne SQL statement.

Define software. -

_,.
Wis s |

Cell — reference: .

. Mention the usage of Header and Footer in MS~Word.

What‘ is Auto -Content Wizard in MS-Power Point?

2 H 1871
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B.C.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2018)
First Year — Second Semester

PROGRAMMING IN ‘C’ AND ALGORITHMS

Time: 2% hours Maximum: 70 marks

PART A - (2 x 12 = 24 marks) ¥
Answer TWO of the following in about 500 words each.

. Define Datatype. Explain various datatypes supported by C with the
suitable example.

. Develop an algorithm for binary search. Validate the algorithm with a
suitable Dataset.

. What are the different methods for traversing the graph? Explain BFS in
detail with an example. Write a function for BFS.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

. Explain Nested Control Structure with an example.
. Define Array. Write a pseudo-code for various array operations.

. Explain Merge Sort Algorithm techniques with its Worst case, Average
and Best case analysis.
PART C - (5 x 4 = 20 marks)
. Write short notes on FIVE of the following:
(a) Keywords in C.
(b) Bitwise operators.
(c) Pointers to an array
(d) Elaborate on Asymptotic Notations
(e) Brief on passing structures to functions
(f) Any four string functions with an example

(g) Write a C program to determine GCD of a given two numbers using
recursive function.

(P.T.O)
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T PARTD (6x2 = 12 marks)
8 Answer SIX of the follong very bneﬂy: . =

(a) Importance of Structure

(b) Define call by reference

(c) State the purpose of Continue Statement

(d) All pairs shortest path technique

(e) Give syntax for Comma operator

(f) List out the various File Modes in C '

(g) Where can one think of using pointers?

(h) Write a C program to check whether the given number is prime
number or not.
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H 187,.3 , : : HD3B/CHD3B

B.C.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2018).
Sccond Year — Third Semester

OPERATING SYSTEMS AND MICROPRQEESSOR AND ITS
APPLICATIONS $

Time : 24 hours Maximum : 70 marks

PART A — (2 X 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Define process. What are the various states of the process? How does

Operating System manages all the running processes?

2.  Elaborate the classical problem of synchronization with the suitable

example.

3. Explain the working principles of 8085 Microprocessor with the neat

Architecture diagram.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.
4, Explain Directory structure organization with the neat diagram,
5.  Differentiate between paging and segmentation memory management

schemes.

[P.T.O/]
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Consider the below processes available.in the ready Queue for execution
, with-arrival time as  for.all and given burst times.

e

Process Burst Time

P1 =2

P2

P3 6 | .
P4

Draw the Gantt Chart and determine the average waiting time of the
processes using SJF scheduling techniques.
, PART C — (5 x 4= 20 mark%’
Write short notes on FIVE of the following :
) :
(a) System calls.
(b) Illustrate with an example about OS as a resource manager.
(¢) Synchronization Hardware
(d) Free Space Management

(¢) Consistency Semantics

() . Addressing modes in 8086.
(g) . Delay Routines.
PART D — (6 x 2 = 12 marks)
Answer SIX of the. following very briefly.
(;’a) Define Distributed Systems. |
(b) What is a Deadlock?
(c) Encryption. ‘
(d) Define Microprocessor.
(e) List out the applications-of counters.

() Differentiate between Hard real time systems and Soft real time
gystems.

(g) List out the functions of DMA.,
(h)  Instruction set in 8086.

2 H 1873
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B.C.A., LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2017)

Second Year — Fourth Semester

PRINCIPLES OF SOFTWARE ENGINEERING AND SOFTWARE

TESTING = °

3.

Time : 21 hours , , Maximum : 70 marks

PART A —(2x12=24 marks)
Answer TW_O of the following in about 500 words each.

What type of Software Cost Estimation technique is followed in the
COCOMO Model? Explain in detail all the attributes involved in the
Construction Model. Explain project duration and staffing for the same.

[llustrate using the home security system application.
What is meant by Software Development Life Cycle? Discuss different

phaées of development life cycle in detail.

Elueidate the various Integration and Debugging strategies followed in

Software development.

PART B — (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

Elucidate the need for a prototype model? Explain an application that
needs a prototype modelling. Also state the advantages and

disadvantages of this-model. '

Discuss the influence of coupling on maintenance? Elaborate the

maintenance model.

What is verification and validation? Describe why validation is a

particularly difficult process?

[P.T.O.]
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PART C — (5 x 4 = 20 marks)

74 - Writeshort notes-on FIVE of t‘,l'x.,el following:

8.

(a)
(b)

- (©

(d)
(e)
®
(8)

Need of Software Engmeermg

Advantages and disadvantages of Incremental Model.
Formal Technical Review.

Structured Analysis and Design Techniques (SADT).
Features of configuration management tools.
Structural Bugs.

Two Link Marker Method of Path Instrumentation.

PART D — (6 x 2 =12 marks)y

Answer SIX of the following very briefly.

(a)
(b)
©
(d)
(e)
®
(2)
(h)

What is the necessity of feasibility analysis?

“Software does not wear out”’, comment on this statement.
HIPO Diagrams.

Why documentation is important in design process?

What are the issués in distributed sgfstem design?

Test Comparators.

List the major attributes of good Quality Software.

Why- the software needs maintenance? -

‘H 1874
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H 1875 ’ | . HD4B/

CHD4B

B.C.A.LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted from 2015 to 2017)
Second Year — Fourth Semester
RELATIONAL DATABASE MANAGEMENT SYSTEMS (RDBMS)
Time : 21 hours - €Maximum : 70 marks
PART A — (2 X 12 = 24 marks)

Answer TWO of the following in about 500 words each.
1. Explain various key attributes in RDBNIS with suitable example.

2. Explain the roles and responsibilities of DBA.
3. What are Codd’s rules? Describe in detail.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in ab(_)ut 300 words each.

4. Differentiate between logical data independence and physical data
independence.

5.  Discuss about DML statements with examples.
6. Describe static hashing and dynamic hashing.

PART C — (6 x 4 = 20 marks)

7. Write short notes on FIVE of the following :
() Mention the types of data model used.

(b)' Instance.
(c) Cliént/server Databases.

(d) First normalization form with examples.

[P.T.0.]
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() Write the SQL statement to find 'émpl'(')yee name with lowest

salary. Employée (emp_name, dept_name, emp.salary).
S el ] A 'y G

@ - Shadow pagHETE . eyt e b
o . A 4 =

(g) What are the various states of transaction.

PART D — (6 x 2 = 12 marks)
Answer SIX of the following very briefly.
(a) Give the levels of data abstraction.
(b) Define ,sihglé valued attribute.
() What is recovery management component? g

(d) What are the different modes of lock?l
() Define Embedded SQL.

(f) What is garbage collection?

(g) Wh‘at are Triggers?

(h) Define Tertiary storage.

2 H 1875
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H 1876 g ; ‘-f | HD5A/CHDSA|

B.C.A,,LL.B. (Hons.) DEGREE (SEMESTER) EXAMINATIONS,
NOVEMBER 2019.

(For the candidates admitted during 2015, 2016 and 2017)
Third Year — Fifth Semester

OBJECT ORIENTED PROGRAMMING LANGUAGE - JAVA AND
WEB TECHNOLOGY a4 ' ’

Time : 24 hours Maximum : 70 marks
‘ PART A — (2 x 12 = 24 marks)
Answer TWO of the following in about 500 words each.

1. Explain the various levels of access protection available for packages
and their implications.

9.  How m_ultiplhe inheritance is achieved in Java? Explain with an example.

8. Discusé the role of Fbrms and Frames in HTML with the suitable
example.

PART B — (2 x 7 =14 marks)
Answer TWO of the following in about 300 words each. |
4. Elucidate the importance of file handliﬁg in Java.

Using JavaScript, validate an input-field that contains an e-mail
address.

=

6. Differentiate between the string fmd stririg buffer classes in Java.
PART C -.—ﬂ(5 x 4 = 20 marks) |
7. Write short notes on FIVE of th:a fdliOWing s
(a) Copy constructor. Give example. \
() Method overriding
(©) Abstract class

[P.T.O.]
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(d) Data types supported by J avaScr1pt1ng

(e) Elmndate The Wmose of Mu1t1 Threadm,g b,

pr
(0 What are the common lists that are used to design’ a -page using

HTML?
(g8 DOM Event Handling. *

: PART D — (6 x 2 = 12 marks)

8.  Answer SIX of the following very bricfly:
(a) What is meant by Access Specifiers?
(b) Define Classes. - . : <
(¢) Final Keyword
(d) Write note on I/0 Stream
(¢) Briefon Exceptlons
(f) What is the dlfference between HTML elements and tags?
(g) erte short notes on J avaScnpt Debugger
(h) Define DOMl

2 H 1876
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COMPUTER NETWORKS AND NETWORK SECURITY

Time : 24 hours , ‘ MEximum : 70 marks

PARTA —(2x12=24 marks)
Answer TWO of the following in about 500 words each.

Explain the OSI Network architecture by sp901fy1ng the functions of
each layer with the neat d1agram

What are the various issues in designing transport layer? Explam how
connections are established using three- -way handshake?

Explam CSMA/CD and its use. What part of the 802 project uses.
CSMA/CD? .

PART B — (2 x 7= 14 marks)
Answer TWO of the following in about 300 words e.ach.

Cryptography technique provides network ~security — justify the
statement? ' '

Define adaptjvefand non-adaptive algorithm. Explain any two routing
algorithm. - ‘

Explain Sliding .Window protocdl with an example.
PART C — (5 x 4 = 20 marks)

Write short notes on FIVE of the following :
() TFive components of a data communications system.

(b) ~ List three approaches to secure user authentication In a
distributed environment?

[P.T.0]



(c)
@
(e)
@.

(g)

| )

Design issues of Data Link layer.

Electronic mail . «o = o0 ‘ y
b T, T : be

Congestion c‘orlltrvol. o = i

Difference between Networking devices and- Internetworking

devices '

Data Encryption Standgrds.

PART D — (6 x 2 = 12 marks)

Answer SIX of the following very briefly :

()
(b)
(©
(d)
(e)
@
(g)
(h)

What are the goals of a network? :
List the various guided media used for tran@is’sion.
Define Multiplexing. , o

What is cipher text?

' Define public key cryptography?

What is a repeater?
Define firewalls and gateways.

How does MIME enhance SMTP?
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PART A - (2 x 12 = 24 marks) {
Answer TWO of the following in about 500 words each.

1. Define Cyber Security. Explain the importance of Cyber Security Laws in
India.

2. Elaborate on Network Forensics in detail with the suitable example.

3. Explain how Forensic Toolkit is used during the investigation process,
with an example.

PART B - (2 x 7 = 14 marks)
Answer TWO of the following in about 300 words each.

4. Explain the steps and techniques involved in Money Laundering.
5. Discuss about evidence retention and media storage needs.
6. Explain the procedure for handling Android Forensic tools.

PART C - (5 x 4 = 20 marks)
7. Write short notes on FIVE of the following:
(a) Discuss about the offences and penalties against the mentioned
Sections of the Information Technology Act, 2000.
(b) What is DOS Attack? How do we recover from DOS attack?
(c) Discuss the technique of tracking an e-mail.
(d) Types of Evidence.
(e) Procedure for acquiring data from cell phones and mobile phones.
(f) Elaborate on Commercial Espionage and Commercial Extortion.
(g) AT Command Set.
(P.T.O.)
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E PART D - (6 x 2 = 12 marks)
‘8. Andwer SDof the following very briefly: i

(a) Write short note on SIM file. st}d&ure :
(b) Various ethical issues concerned with computer forensics.
(c) What is meant by Evidence Interpretation?
(d) Private Key Encryption.
(e) What are Cache Files?
(f) Write note on role of Certifying Authority.
(g) Causes of Data Loss.

(h) Mail bombs. ; »




